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Section Id : 5406261183
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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 54062623871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

ET25, BQ19, YN39, VK33, SH28
Options :

1. ®* BQI9

2. % VK33

3. % YN39

4, ¥ SH28

Question Number : 1 Question Id : 54062623871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

TS 3hd fear T 8, fored § U Ug Tad ¢ | 3T T fawed! & 9 39 7 ue &I gfu|

ET25, BQ19, YN39, VK33, SH28
Options :

1. ®* BQI19

2. % VK33

3. % YN39

4. ¥ SH28

Question Number : 2 Question Id : 54062623872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

CR, EY, GF, 1M, ?
Options :
1. * LV
2. ¥ KT
3. % MV
4. % NW

Question Number : 2 Question Id : 54062623872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 foar T B, Ford @ U Ue g 21 fau T fawen & ¥ 98 9l fawed 9T, St 3igehd o T B

CR, EY, GF, IM, ?
Options :
1. ®* LV
2. ¥ KT
3. ¥ MV



4. = NW

Question Number : 3 Question Id : 54062623873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

XHPN, AKSQ, DNVT, GQYW, ?
Options :

1. ¥ JTBZ

2. % JUCW

3. # KVDX

4. % LWEY

Question Number : 3 Question Id : 54062623873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3IehH o T B, o § 0o Ue g 8| fau U fased & O o 9e! fawed gg, S 3 H &1 1 HR |

XHPN, AKSQ, DNVT, GQYW, ?
Options :

1. ¥ JTBZ

2. % JUCW

3. % KVDX

4. % LWEY

Question Number : 4 Question Id : 54062623874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd word from the given alternatives.
Options :

1. # Chair

2. ¥ Goat



3. #* Table
4. % Bench

Question Number : 4 Question Id : 54062623874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad uy @ feu e foswedl O 9 fawd 2rsg &1 9T
Options :

1. % A

2. GBI

3. % O

4. % §9

Question Number : 5 Question Id : 54062623875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. ¥ JHFC

2. % ZWTQ

3. ¥ KHEB

4. % DAXU

Question Number : 5 Question Id : 54062623875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy & fou e fawedl & § fawm sier/siert &) gfu|
Options :

1. ¥ JHFC

2. % ZWTQ

3. % KHEB



4. = DAXU

Question Number : 6 Question Id : 54062623876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of () with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ¥ QCF - PVU

2. % CDL -BXO
3. ¥ NSE - MMV
4. % BOM — AIN

Question Number : 6 Question Id : 54062623876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR fermuuy ¥ IR seR g Ru M B () & Tt 3R o T 31aR () F ol SR fad T 3rer | fopdt b/ Mow ey | Tefia g1 diF
I U do/aH/AeY & SMUR IR 97 g | 73T 1Y fawed # ¥ faww &1 gi-u|

Options :

1. ¥ QCF - PVU

2. % CDL - BXO

3. % NSE - MMV

4. % BOM — AIN

Question Number : 7 Question Id : 54062623877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letters from the given alternatives.

RP:US:MO:?
Options :
1. ¥ PR
2. % RP



3. % OR
4. % OP

Question Number : 7 Question Id : 54062623877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy & fiiu e faweal & § Tefda sieri &) gfu|

RP:US:MO:?
Options :
1. ¥ PR
2. % RP
3. % OR
4. % OP

Question Number : 8 Question Id : 54062623878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

RMB : GRW :: ?

Options :

1. % ROP: USW
2. % LAB: HFQ
3. TUN : SZY
4. % FUB : KZG

Question Number : 8 Question Id : 54062623878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy # it 7T fowedl § 9 e 3feR g &l gHu|

RMB : GRW :: ?



Options :

1. % ROP : USW
2. % LAB: HFQ
3. ¥ TUN : SZY
4. ¥ FUB : KZG

Question Number : 9 Question Id : 54062623879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related letter pair from the given alternatives.

ABCD : PLHD :: ?
Options :

1. % MINT : EWOP
2. % GROM : YWX]J
3. ¥ LASP : OGBB
4. ¥ TORK : WAUW

Question Number : 9 Question Id : 54062623879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o fau e fawedt & 4 d6fia sieR g o1 gl

ABCD : PLHD :: ?
Options :

1. ¥ MINT : EWOP
2. % GROM : YWXIJ
3. ¥ LASP: OGBB
4. ¥ TORK : WAUW

Question Number : 10 Question Id : 54062623880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In a certain code language, ‘TRAILS’ is written as ‘QJGYPR’. What is the code for ‘GROWTH’ in that code language?
Options :

1. ¥ FRUMPF

2. ¥ FRVMPE

3. ¥ FRUMPE

4. * FSUMPE

Question Number : 10 Question Id : 54062623880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U fAfRIP I UIWT H, “TRAILS’ & ‘QIGYPR’ foral ST 81 39 PIS HIWT H ‘GROWTH® &1 HIS FIT 82
Options :

1. ¥ FRUMPF

2. % FRVMPE

3. ¥ FRUMPE

4. * FSUMPE

Question Number : 11 Question Id : 54062623881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘TOR’ is written as ‘106, ‘CAS’ is written as ‘46’. What is the code for ‘MORP”’ in that code language?
Options :

1. * 114

2. % 108

3. % 122

4.9 124

Question Number : 11 Question Id : 54062623881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
o ARy Bie W &, “TOR® &l 106’ fARGT ST B, ‘CAS’ B 46’ ToRAT SIAT 81 3 IS HIWT & ‘MORP’ BT Hlg T 52

Options :



1. = 114
2. % 108
3. % 122
4.9 124

Question Number : 12 Question Id : 54062623882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, ‘He is gone now’ is written as ‘ol nx et op’, ‘Is she blutting’ is written as ‘nx er fn’, ‘Now or never’ is written as ‘op
fz rq’. What is the code for ‘now is’ in that code language?

Options :
1. % etfz
2. % olop
3. ¥ op nx
4. % fzrq

Question Number : 12 Question Id : 54062623882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% ARy ®ls ‘J-H'GlTﬁ, ‘He is gone now’ Pl ‘ol nx et op’ WW%, ‘Is she blutting’ B ‘nx er fi’ %ET\_YHFIT%, ‘Now or never’ &I ‘op fzrq’
%@W%I Eﬂ?ﬁgwf[ ‘now is’ WWW%‘7

Options :

1. ® etfz

2. % olop

3.9 opnx

4. * {7 1q

Question Number : 13 Question Id : 54062623883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In a certain code language, ‘PENELOPE’ is written as ‘WIIGWGYK’. What is the code for ‘WILLIAMS’ in that code language?
Options :



1. ®* KFUDEDCR
2. #* KFUDEDRC
3. # KFUDDERC
4. ¥ KFUDDECR

Question Number : 13 Question Id : 54062623883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U ARy HIs UM &, ‘PENELOPE’ &1 “WIIGWG YK’ foRal SITdT § 1 39 IS HIWT H ‘WILLIAMS’® &1 IS T 82
Options :

1. = KFUDEDCR

2. % KFUDEDRC

3. % KFUDDERC

4. + KFUDDECR

Question Number : 14 Question Id : 54062623884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Height of Jai, Shivam Shyam, Rohan and Raman are compared. Height of Shyam is neither more nor less than the height of Jai. Height of Jai is
less than only three persons. Height of Raman is more than Rohan but less than Shivam. Height of how many persons is more than Shyam but
less than Shivam?

Options :
1. %3
2. % 1
3.%0
4. ¥ 2

Question Number : 14 Question Id : 54062623884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
oI, TR, 2T, A U1 A B 3Ha18 Bl gai1 1 T ¢ | TH Bl Sls, o Bl HdTs & 1 dl e § 1§ HH §1 517 B1 HaTs baal
I safeadl @ HH g1 T B FaTs e T 34 § A Rraw A w7 3| fba aufaqal &) Sars wm § 1Y g dAfe Ram I sa 82




Options :
1. %3
2. % 1
3.%0
4.9 2

Question Number : 15 Question Id : 54062623885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of five persons is to be formed from four boys B1, B2, B3 and B4 and four girls G1, G2, G3 and G4. G3 and B2 should not be in the
same team. G4 and B1 should not be in the same team. If B4 is selected, then G2 should be selected. If B3 is selected, then neither G1 nor B2 can
be selected. Who among the following may be selected?

Options :

1. % G2, G3, G4, Bl and B2
2. ¥ Gl1, G2, G4, B2 and B4
3. ® Gl, G3, G4, B3 and B4
4. % G2,G3,Bl1, B2 and B4

Question Number : 15 Question Id : 54062623885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR ASHI B1, B2, B3 IUT B4 TUT IR ASHBAI G1, G2, G3 YT G4 H J U Afeadl &1 Ueb A I ST 81 G3 TUT B2 A 19 H T8t

SRR G4auTB1wa‘1ﬂﬁ=|€raﬁaT%mtrI%B4ﬁ%ﬁw% @ G2 &1 g1 O A1feY | Af B3 S AT ST g, A1 8l G1 AT Bl
B2 &1 g1 S ghell ¢ | Fafafad § § f6= g s asar g2

Options :

1. % G2, G3, G4, Bl dUTB2
2. ¥ G1, G2, G4, B2 dUT B4
3. % G1,G3,G4,B3 dUT B4
4. % G2,G3,BI1, B2 dUT B4

Question Number : 16 Question Id : 54062623886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Pointing towards a man in a photograph, a woman said, “He is the only son of the brother of the brother of the son of my mother’s husband”.
How is that woman’s father is related to that man?

Options :

1. ¥ Grand father
2. % Father

3. # Uncle

4. ® Cousin

Question Number : 16 Question Id : 54062623886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T qWR H Ueh [ B 3R Tobd Bl §U, Th HISdl I el “dg WLl /a1 & Ufd &b G & HTS P HTS BT UhH I3 37 | 3 A & o
I YEY 3 g UHR Faiferd g2

Options :

1. ¥ qlal

2. % fUar

3. % Ml

4. % HioH

Question Number : 17 Question Id : 54062623887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven women A, B, C, D, E, F and G are sitting around a circular table facing towards the centre (not necessarily in the same order). C is second
to the left of F. A is third to the left of C. G is third to the left of F. D is not the immediate neighbour of F. B is not the immediate neighbour of A.
Three of the following are similar by a certain logic and forms a group. Which of the following does not belong to that group?

Options :
1. % BFE
2. % FEA
3. % ADG
4. ¥ GCF



Question Number : 17 Question Id : 54062623887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IId ARREE A, B, C, D, E, F AU G % B 3R TW I U JATHR Aol & 36-111G 931 B3 & (] el bl s/ pH A &N C, F &b arl 3R
gﬂ%@ﬂqw%lA,C%&Td’fshwﬂﬂ%ww%G,F%&Td’fshwm%wm%D,Fﬁﬁwu@;ﬂqﬁ%m,/ﬂ%ﬁmﬁu@?ﬂ
el 5| Fafaed & 9 o9 T faRry a4 Heifid & auT T 9 991d & | FafaRad & 9 19 91 99 9gg ¥ deftd e o7

Options :

1. * BFE

2. % FEA

3. % ADG

4. ¥ GCF

Question Number : 18 Question Id : 54062623888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Eight boys A, B, C, D, E, F, G and H are sitting around a circular table facing towards the centre (not necessarily in the same order). A is second
to the left of H. Two boys are sitting between A and G. C is third to the right of A. One boy is sitting between G and D. B is not the immediate
neighbour of G. F is second to the right of E.

Which of the following statement(s) is/are correct?
L. F is the immediate neighbour of D and G.

II. H is third to the left of G.

II1. F is second to the left of A.

IV. H and E are immediate neighbours.

Options :

1. # II and III

2. % [ Iland IV

3. % LIL I and IV
4. 1,11 and III

Question Number : 18 Question Id : 54062623888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE TSP A, B, C, D, E, F, G IUT H Hg BI 3R TG HIPb U JAIHR TSl B 36-11¢ 96 §U B (SRS -Tel b1 3UT HHA BN | A, H P &




IRENRVYHARGIATIGH AHA G ASH 3 gU G| C, A P Gl IR TN /MW G| G TUTD & T U TSP 91 g3 5| B, G BT
fAdedd USRI T8I 81 F, E & il iR g T R g |

frafaied & @ &9 T3 Sy 98 /87
I E, D a1 G &1 Adpcan gsift g1

I H, G P a1t 3R TR WF R B
1L F, A & 9 3R R ™ W B

IV. H 3T E Adhedr uai g
Options :

1. % [1dYT I

2. % LI AYUTIV

3.8 L I dYT IV

4. 1 11 dYT 1T

Question Number : 19 Question Id : 54062623889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. Some garden are green.
II. No ground is garden.

Conclusions:
I. No ground is green.
II. No garden is ground.

Options :

1. % Only conclusion I follows

2. % Only conclusion II follows

3. ¥ Both conclusions I and II follows

4. % Neither conclusion follows



Question Number : 19 Question Id : 54062623889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (b U MU | 3T T Hy=1 &1 91 A, T1e 374 AE=a 1 a2t
Y oz 81t e o oiR fiR i & 6 fou o o O s, fou U wyi & SR &R gfaasa g

HhY:
1. 33 T, e
1. ®is W T, S T8 B

fsep:

1. ®1s ft figH, I 781 5

1. 18 o sefen, Bem TEi B
Options :

1. % $Had [FT5HY [ 3FIERU Bl §

2. ¢ Had (BN 11 SR Hal §

3. % G (FIShY [ T 11 SFJAR0T %l &
4. % 1S i P SFERU TS BT ®

Question Number : 20 Question Id : 54062623890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. NoBis A.
II. Some C are B.

Conclusions:
I. Some C are not A.
II. All A are C.

Options :

1. ¥ Only conclusion I follows



2. % Only conclusion II follows
3. #* Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 20 Question Id : 54062623890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau T Uy H 8 U 3R I 918 31 HUHI IR YRG5 56y 3T T4 § 1 3T T H2= & 981 aM, 918 S8 Qg J1d 9
3 frzrar 811t e o oik fisR fReiia & i fou o o1 @ fse, fou U sy & smuR &R gfaaa g

HY:
. ®is Wi B, A TSR
IL. 3 C,BEl

fsem:
L$SC,ATRIRI
.94t A, C Bl
Options :

1. ¥ $HId [T5HY [ 3RV Bl §
2. % Had (BN 11 SR Hl §
3. % GHI FSHY 1 a7 11 SR H-d &
4. % Pig W} FIHY SR 8! R §

General Ability2
Group Number : 2
Group Id : 540626937
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20

Is this Group for Examiner? : No
General Ability2

Section Id : 5406261184

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261410

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 54062623891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements

to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:
I. All pomegranate are white.
II. No mango is pomegranate.

Conclusions:

I. Some white are pomegranate.
II. All white are mango.

II1. No pomegranate is mango.

Options :
1. # Both conclusions I and II follows

2. % Only conclusion III follows



3. ¥ Both conclusions I and III follows

4. % All conclusion follows

Question Number : 21 Question Id : 54062623891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T fau U Uy H @ U 3R I 918 31 HUHI IR SAUNRG & (5pY 3T T4 § 1 3T T H2= & 981 aM, 918 S8 Qg J1d 9
3 frzrar 811t e o oik fisR fReiia & i fou o o1 @ fse, fou U sy & smuR &R gfaaa g

HY:
1. g 3FR, g B
1. B i 3, SAR T8I B

fsen:

. $ e, AR |

1. gt Ithe, M gl

11, 1S WY 3FR, 3 T R

Options :

1. % QI FT5BY 1 T 11 3FIERU $H1d §
2. % Had By 111 IR Hal §

3. ¢ QA1 S 1 T 111 SR Hd &
4. % i} Fpy SFRRUT Rl §

Question Number : 22 Question Id : 54062623892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. Some M are L.
II. Some K are C.
III. Some C are M.



Conclusions:

I. Some K are not M.
II. Some L are C.

III. Some L are M.

Options :

1. ¥ Only conclusion III follows

2. % Only conclusion II follows

3. % Both conclusions II and III follows

4. % All conclusion follows

Question Number : 22 Question Id : 54062623892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 foU T Uy T 58 U 3R 39D 918 31 Bl R SMUTRT & (b U MU | 3T T Hy=1 &I 9! AM, 1e 374 AE= 1 a2t
I oz g1t feeed o oiR fsR i & 6 fou o 1 O s, fou 71U wyi & SR &R gfaasa g

HY:

L. $S M, LG

L. S K, CRI

L. $S C, Mgl

fsep;

L $S K, Ml gl
IL.HSL,CRI
N.$S L, Mg
Options :

1. ¢ $Had [TSHY [11 TR0 HRAT §

2. % Had fHY 11 ST HT &

3. % G IRy 11 T 111 SRR HRd §
4. % Juft Frspef SFER0T Hvd §

Question Number : 23 Question Id : 54062623893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given statements
to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which of the given
conclusion logically follows the given statements.

Statements:

I. All red are car.

II. No blue is white.
II1. All white are car.

Conclusions:

I. Some white are not blue.
II. Some car are red.

III. Some red are white.

Options :

1. # Both conclusions I and III follows
2. % Both conclusions I and II follows
3. % All conclusion follows

4. % Neither conclusion follows

Question Number : 23 Question Id : 54062623893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 foU T Uy T 58 U 3R 3D 918 31 Bl R SMUTRT & (bt U MU | 3T T Hy=1 &I 91 AM, T1e 3749 AE= 1 a2t
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HY:
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Options :




1. % G fISp [ T 111 R0 HRd &
2. ¢ ST ISR 1 YT 11 SRR R §
3. % gt Fpy SFERU v §

4. % I U FIsHY SR T8I HRaT @

Question Number : 24 Question Id : 54062623894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the related number from the given alternatives.

485:447 :: 412 :?
Options :
1. ¥ 374
2. % 372
3. % 375
4, % 377

Question Number : 24 Question Id : 54062623894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraforiaa oy & fou T fawedl & @ Weifta e o gful
485:447 :: 412 :?

Options :

1. ¥ 374

2. % 372

3. % 375

4, % 377

Question Number : 25 Question Id : 54062623895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In the following question, four number pairs are given. The number on left side of (:) is related to the number of the right side of (:) with some
Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :
1.9 13 : 1331
2. % 8:343
3. % 9:512
4. % 10:729

Question Number : 25 Question Id : 54062623895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ey ¥, IR S gW R MU § 1 () & It SiR € 718 A (1) & arl 3R &1 712 Tvean © foneht ah/ o ety 9 waiferd g1 A
I T dh/FoH/Aey & YR IR 90 g | faU 78 fawed! & ¥ faww &1 gfu|

Options :

1.¥ 131331

2. % 8343

3.%9:512

4. % 10:729

Question Number : 26 Question Id : 54062623896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the missing number from the given series.

-77,-76,—72,—45,-29,7,132
Options :

1. % 92

2. % 94

3.9 96

4. % 98

Question Number : 26 Question Id : 54062623896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraforiad oy & <t S Yae & J qu of J1d Hiforg|

-77,—76,—-72,—45,-29,7,132
Options :

1. % 92

2. % 94

3.¥ 96

4. % 98

Question Number : 27 Question Id : 54062623897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A series is given with one term wrong. Select that wrong term from the given alternatives.

—41,-38,-30,—- 6,42, 163
Options :

1. % —38

2.% -6

3. % 42

4. ¥ 163

Question Number : 27 Question Id : 54062623897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS 3hd fean T 8, ford § U ug ad ¢ | 3T T fawed! & 9 39 7Tad U &I gfu|

-41,-38,-30,-6,42, 163

Options :
1. % —38
2.% -6

3. % 42



4.4 163

Question Number : 28 Question Id : 54062623898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Identify the diagram that best represents the relationship among the given classes.

Sharpener, Pencil, Pen
Options :

OO
O

2. %

o
3. %
|©

Question Number : 28 Question Id : 54062623898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

98 3R AT S i U U ol & o9 & IdY &1 et g Har g



Options :

0
O

2. %
@o
3. %

Question Number : 29 Question Id : 54062623899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many dogs are red?



Red

11

N
D(‘Ig H?\_

Tyre

Options :
1.¥ 4
2. %13
3.%9
4. % 20

Question Number : 29 Question Id : 54062623899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fpd o, A1 82




Options :
1.¥4
2. %13
3.%9
4. % 20

Question Number : 30 Question Id : 54062623900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many rubber are only red?

Black
11

18

9 3 6

15 2 2

N

Blué/ 4 Red
Options :
1. % 15
2. % 4
3.% 6
4. 90

Question Number : 30 Question Id : 54062623900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fHa J9s Had a1 82




11

18

9 3 6

15 2 2

o

EﬂﬂT/ 4 ollel
Options :
1. % 15
2. % 4
3.%6
4.9 0

Question Number : 31 Question Id : 54062623901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given diagram, which of the following statement(s) is/are correct?

Onion




I. Total number of potato are 37.
II. Number of onion which are bag and potato both, are 10.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ® Neither I nor II

Question Number : 31 Question Id : 54062623901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U SR & YR IR, Fofif@d § Q & 91/ U 98l /82

TSt
6
4 710
3
; (] 9 CEl)
y&

L. 3T ! Hof TS 37 B
1. I8 TSl Sl 977 4T 3T &1 5, B AT 10 § |
Options :

1. ® Had 1
2. % Had Il
3. 1dUT 11 Sl



4. % ATEIIATSII

Question Number : 32 Question Id : 54062623902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Based on the given diagram, which of the following statement(s) is/are correct?

Feed L 11

1] 8 ™
3 Black
L 14
} S
Voilet

I. Number of black which are not violet, are 13.
IT. Number of red which are only black, are 2.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 32 Question Id : 54062623902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ TTY 3R & 3MyR R, Fafafea & T o9 918 U7 I8t 8782



11| 8 %
- |3 Tl
14
—
ST
1. 98 BT Sl ST 81 8, 1 T 13 | |
11. 98 <ITd Sl Had pTA §, Bl T2 B
Options :
1. % Had 1
2. % HAd I
3. 1T Gl

4. % ATEIIATSII

Question Number : 33 Question Id : 54062623903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

o

Options :

vl




2. % f
3. ® %
4.9 /D

Question Number : 33 Question Id : 54062623903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad uy O fau T fased! & I Uy fag (2) & RIM W 3 dTell 31hid D1 AT

o
Z
7

\

1. ®




L

Question Number : 34 Question Id : 54062623904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.

Options :
O
1. #
2
g
3.¢
8
4. %

Question Number : 34 Question Id : 54062623904 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fraferRad Uy #, fdu 7 fasedl # 4 faww siepfd &1 gHT|

Options :
O
1. #
i,
»
3.¢
S
4, %

Question Number : 35 Question Id : 54062623905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the odd figure from the given alternatives.
Options :



=

[

2.¥

— ==

[
[l
[

Question Number : 35 Question Id : 54062623905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafafad uy o, fau 7 fasedt & 9§ faww siepfd &1 9T

Options :

[I]




2. ¢

— ==

[
[l
[

Question Number : 36 Question Id : 54062623906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, select the figure which can be placed at the sign of question mark (?) from the given alternatives.

Options :

0

%




%

4.9

Question Number : 36 Question Id : 54062623906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad uy O fau T fased! & I Uy fawg (2) & RIM R 3 dTell 3Thid D1 T

% |23l [F][

Options :
0>
1. # ?
%
2. #
Ka
3. ®
%
-

4.9



Question Number : 37 Question Id : 54062623907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

11 equal cuts are made on each axis of a big cube. How many small cubes will be obtained?
Options :

1. % 1331

2. % 1000

3.9 1728

4. % 729

Question Number : 37 Question Id : 54062623907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS §3 U1 P! U 3 TR 11 SRISR Held A 7Y g | fha- SIe o7 ured giie
Options :

1. % 1331

2. % 1000

3.9 1728

4. % 729

Question Number : 38 Question Id : 54062623908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After folding the given paper, what will come opposite to ‘9’ and ‘3’ respectively?



ST ERFR I B L

Options :
1.¥8,6
2.%6,8
3.% 42
4. % 2.4

Question Number : 38 Question Id : 54062623908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST T BT &l A o TYTd, HH: ©9° TUT *3° & [AWRId 3T 31T

SO RN I O =

Options :
1.¥8,6
2.% 6,8
3.% 4,2
4. % 2.4

Question Number : 39 Question Id : 54062623909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
After folding the given paper, which of the following cube(s) can be made?

H| A
L | K

P @ &
I Il 111
Options :
1. # ITand III
2. % Only IT

3.% T and III
4. % Only III

Question Number : 39 Question Id : 54062623909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&0 7T ST Y e & uyTd, FufiRad # @ o 91/ 97 9911 & TobdT &/ o bd 82




L | &
FlG
I Il 111

Options :

1. % [1TUTII

2. % Had I

3.« 13U

4. ® Had 11

Question Number : 40 Question Id : 54062623910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

Ameroeeeese B

Options :

1. #®



2.¥

Question Number : 40 Question Id : 54062623910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T YT T AB AT TR T ST, Al & T8 ST MH Tl H F B A 1epfa Uy Sepfa &1 Tgt ufafad grfte

Aroreeeee B

Options :

1. ®

2.¢




4. %
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Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 54062623911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lakhota fort is located in

Options :

1. ¥ Gujarat

2. % Kerala

3. % Jharkhand

4. % Patna

Question Number : 41 Question Id : 54062623911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
aaeifear . ARE3EI

Options :

1. % T[SRId

2. % B

3. % JRTS

4. % Ucdl

Question Number : 42 Question Id : 54062623912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are a tabla player?

1. Zakir Hussian
II. Shafat Ahmed

Options :
1. ® Only I



2. % Only II
3.4 BothIand II
4. % Neither [ nor 11

Question Number : 42 Question Id : 54062623912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed & 4 S 91/ dae ded 2/8?

. SR g8

I1. R[hTd 3fgHa
Options :

1. % Had |

2. % Had II

3. ¢ 1 AUT I A
4. % qEIIATRIII

Question Number : 43 Question Id : 54062623913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following festival belongs to Kerala?

I. Onam
II. Vishu

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 43 Question Id : 54062623913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



FOfIfEad & ¥ o9 91 ABR Ha I J&ied 82

. 39
11. fagy

Options :

1. % FHadl

2. % Had Il

3. ¢ 1 AU Gl
4. % qGIIATRIII

Question Number : 44 Question Id : 54062623914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pairs of state monument is/are correct?

I. Bihar — Shershah Suri’s Tomb
II. West Bengal — Shaheed Minar

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 44 Question Id : 54062623914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefad # 3 I0 - RS B1/® B 91 TH L 2782

1. fogR — IRME G &1 qharT
11 Uf3H §7TdT - [Mele AR
Options :

1. % dhad |

2. % Had Il



3.« 1 QYT I Sl
4. % BB I

Question Number : 45 Question Id : 54062623915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are the policy instrument of Reserve Bank of India?

I. Liquidity Adjustment Facility (LAF)
II. Reserve Deposit Ratio (RDR)

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 45 Question Id : 54062623915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafied & @ &9 918 YRd Roid S o173 HeTd SuHRur g/8?

1 IR FHISH Jfaem (Tu)
11. S{RTEd ST $UTd (IRSISR)
Options :

1.« Had 1

2. % HAdII

3. % [ UGl
4. % AL ATAN

Question Number : 46 Question Id : 54062623916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Goods that may be used by other producers as material inputs are called



Options :

1. ¥ Intermediate goods
2. # Final goods

3. % Consumer goods
4. % Capital goods

Question Number : 46 Question Id : 54062623916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 IATGD| GRT ST I3 &b T T IuANT fbT ST Yo dTel T3 bl HEI Il g
Options :

1. ¢ Had a%g

2. % JIR AT

3. % JUYIT 9]

4. % Yol a¥g

Question Number : 47 Question Id : 54062623917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
record the transactions in goods, services and assets between residents of a country with the rest of the world.

I. Balance of Payment
II. Trade deficit

Options :

1. % Only I

2. % Only II

3. # BothIand II
4. # Neither I nor II

Question Number : 47 Question Id : 54062623917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T 321 & FaTiyat & agait, Yarsif 3R aRufat &1 gfar & st fewat & ar dee FHEA 5|

1. YT dJa
I1. IUR 97T

Options :

1.« Had 1

2. % Had Il

3. % [ UGl
4. % A LATAN

Question Number : 48 Question Id : 54062623918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the correct measurement of Gross Fiscal Deficit?

Options :

1. # Total expenditure + (Revenue receipts — Non-debt creating capital receipts)
2. ¥ Total expenditure — (Revenue receipts + Non-debt creating capital receipts)
3. # Total expenditure + Non-debt creating capital receipts

4. ® Total expenditure — Non-debt creating capital receipts

Question Number : 48 Question Id : 54062623918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qH T ASTDH NI 1S BT Tel HTY T 82

Options :

1. ® P Y + (oI WGl — TR-F01 I Giord YoiTd Tt
2. ¥ O I — (oG WIGaT + TR-F01 ¥ JRd Goiira wnfeera)
3. % Hd I + TR-BU YT T YoirTa wiftaar

4. % $A Y - TR-BUN Y Yiord B arelt Yoird wiferar

Question Number : 49 Question Id : 54062623919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are true about the demand deposit, with reference to the banking system in India?

I. They are payable by the bank on demand from the accountholder.
II. Current and savings account deposits are its examples.

Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 49 Question Id : 54062623919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRad Sy=/BYU=T & ®IF /A YR # ofhT Jurmelt & gy & A 591 & IR J I8 8787

. § WIAYR! ! AV R §F gRI ST & |
I1. 9T 3R T9d QT & ST $HP 3aTeR0l g |
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl
4. % AL ATAN

Question Number : 50 Question Id : 54062623920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Modern periodic table has groups and periods.
Options :

1. % 16;7

2.9 18,7

3. % 18;5



4. % 16; 5

Question Number : 50 Question Id : 54062623920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3Ny anmad aroft &% g ql 3M1ad g |
Options :

1. ® 16;7

2.9 18,7

3. % 18;5

4. ®# 16;5

Question Number : 51 Question Id : 54062623921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is NOT Annelida?
Options :

1. # Nereis

2. % Ascaris

3. ¥ Earthworm

4. % Luch

Question Number : 51 Question Id : 54062623921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed # 9 e ifers 78t g2

Options :

1. % g

2. ¥ TEhRY
3. % g3l

4. % i



Question Number : 52 Question Id : 54062623922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is/are correct?

I. Red blood cells — spherical shaped
II. Muscle cells — spindle shaped

Options :

1. * Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 52 Question Id : 54062623922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofafed & 9 oH 91/8 g 98 8/6?

1. IS X PIRIBTE - MATDR =01
1. U= HIRIBT - AH=ul
Options :

1. % FHad 1

2. % Had Il

3.9 1 AU Gl

4. % qGIIATRIII

Question Number : 53 Question Id : 54062623923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair is/are correct?

I. Inhalation — ribs move up and outward
II. Exhalation — ribs move down and inward



Options :

1. % Only I

2. % Only IT

3. % BothIand II
4. % Neither I nor II

Question Number : 53 Question Id : 54062623923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafafed & Q &F 918 g 981 8/8?

. 49 - TRl SR 3R 1eR Bt 3R 71 et 3|
1. I — Tl - 3iR 3faR & R TMfd Bl ] |
Options :

1. % PHadl

2. % Had Il

3. 1AUT ISl

4. % 1B

Question Number : 54 Question Id : 54062623924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following shares land boundary with India in the north-west?

I. Pakistan
II. Afghanistan

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II



Question Number : 54 Question Id : 54062623924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied & 9 ®F STR-UfH & YR & a1y YT a7 I8 a1 82

1. grfar
VRS IIEESIGH

Options :

1. % $Had 1

2. % Had Il

3. ¢ 1 AU Gl
4. % I I

Question Number : 55 Question Id : 54062623925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a rabi crop?

1. Wheat
II. Rice

Options :

1. ¥ Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 55 Question Id : 54062623925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofaied 3 @ & @ & waa g2
.75

I1. 91dc]



Options :

1. ¥ FHad |

2. % Had Il

3. % [ UGl
4. % qGIIATRIII

Question Number : 56 Question Id : 54062623926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is/are west flowing river(s)?

I. Narmada
I1. Tapi
III. Mahanadi

Options :

l.¥ Tand I

2. % Il and III
3. % Tand III

4. % I, II and III

Question Number : 56 Question Id : 54062623926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad 7 Q& 9 Td/Afea ufdH o1 R g5 878

. THaT
1. gt

111, HETa!
Options :

1.« 1dYTII

2. % 11 dYUTIII
3. % 1dYTII
4. % 1 11 dYTIII



Question Number : 57 Question Id : 54062623927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a copper producing area of India?

I. Khetri
II. Balaghat

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. ¥ Neither I nor II

Question Number : 57 Question Id : 54062623927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofiRed O @ ®F 91 YRd &7 did] SdTeH &7 &85 82

1. 9da!
IACINICIE
Options :

1. % Hadl
2. % HAd Il
3. [ QYT ISl
4. % qEIIATE I

Question Number : 58 Question Id : 54062623928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) regarding tropical evergreen forest is/are correct?



I. They are also called tropical rainforests.
II. The trees of these forests shed leaves completely twice a year.

Options :

1. % Only I

2. % Only II

3. % Both I andII
4. # Neither I nor II

Question Number : 58 Question Id : 54062623928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IUBTedd TEaeR a9 & deu § Rufifea § € o1 918 Sy 98 277

1. 3% SUibfesdiy auf a9 t HaT ST gl

1L 3731 & U8 & T a9 § &) IR I dRE 318 9 ©
Options :

1.¥ Hadl

2. % HAd Il

3. % [ QYT ISl

4. % qEIIATE I

Question Number : 59 Question Id : 54062623929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
appointed East India company as the Diwan of Bengal.
Options :
1. # Chalukyas
2. ® Rajputs
3. % Mughals
4. ¥ Chauhans

Question Number : 59 Question Id : 54062623929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

3 3% ST HUT BT S BT 1A e T Tl
Options :
1. % g
2. % WY
3. ¥
4. % 9gH

Question Number : 60 Question Id : 54062623930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Lucknow Pact was signed in

Options :

1. % 1906

2. % 1905

3. % 1912

4.+ 1916

Question Number : 60 Question Id : 54062623930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
_ AT, GHEd W gIER §U
Options :

1. # 1906

2. % 1905

3. % 1912

4. ¥ 1916

General Awareness2



Group Number : 4

Group Id : 540626939
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2

Section Id : 5406261186
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261412
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 54062623931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With which gana Buddha belonged?
Options :

1. # Makya Gana

2. # Ragya Gana

3. % Shakya Gana

4. % Sabhya Gana



Question Number : 61 Question Id : 54062623931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gg o o1 9§ Heiferg 29

Options :

1. % H[H 0T

2. ® PG 0T

3. ¢ RITR IO

4, % JEJ I

Question Number : 62 Question Id : 54062623932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair(s) regarding Ruler and their time period is/are correct?

I. Khizr Khan — 1414-1421
II. Bahlul Lodi — 1451-1489

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. #® Neither I nor II

Question Number : 62 Question Id : 54062623932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafied & ¥ & 91/" T U 3R 3 A HId & Sae T T8 6/8?

1. a9 @M - 1414-1421

1. S8l dIdl — 1451-1489

Options :




1. % PHadl
2. % Had II
3. QYT I gl
4. % I IAE I

Question Number : 63 Question Id : 54062623933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following was/were written by Bankim Chandra Chattopadhyay?

I. Vande Mataram
II. Anandamath

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 63 Question Id : 54062623933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad o O dfores agiurema = Fu forar um

1. 9 ATRH
II. 3HGHS
Options :

1. % Had |
2. % Had I
3. ¢ 1 AU Gl
4. % qEIIATR I

Question Number : 64 Question Id : 54062623934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has become the first woman to reach the Mariana Trench?
Options :

1. # Anshu Jamsenpa

2. # Bachendri Pal

3. % Junko Tabei

4. % Kathryn D. Sullivan

Question Number : 64 Question Id : 54062623934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AIRAMAT ¢ WR UgaH aTl! g Afgar I a1 82

Options :

Question Number : 65 Question Id : 54062623935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the Asia’s largest solar power plant inaugurated?
Options :

1. # Uttar Pradesh

2. % Gujarat

3. # Maharashtra

4. ¥ Madhya Pradesh

Question Number : 65 Question Id : 54062623935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TRAT & Y8 93 TR o1l YF P IUTe FHal [l T g2
Options :

1. % IWRUSY

2. % ToRIA

3. % HGRIY

4. ¢ GG UG

Question Number : 66 Question Id : 54062623936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which organization releases SDG (Sustainable Development Goals) India Index?
Options :

1. ¥ NITI Aayog

2. % Reserve Bank of India

3. # Defence Research and Development Organisation

4. % Telecom Regulatory Authority of India

Question Number : 66 Question Id : 54062623936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIF I T TSl o, (JRAd Saaudc Me) 3fear o0y o At el 82

Options :

1. ¢ =il TanT

2. % Xo1d da 3T Sfean

3. % TSty R TUS Sadudc iRUgoIRH
4. % Collop | Woed) YRS ot gfgan

Question Number : 67 Question Id : 54062623937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following books is written by Pranab Mukherjee?



Options :

1. # Pax Indica

2. % The Coalition Years
3. ¥ Why I am a Hindu

4. % Exam Warrior

Question Number : 67 Question Id : 54062623937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiaa 7 o9 T frame e goff gr ferdt meft 82
Options :

1. % U $fSar

2. ¢ T pIUfeRH 3gd

3. % 91 TS TH 3 fdg

4. % YA AR

Question Number : 68 Question Id : 54062623938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the name of India’s first indigenous COVID-19 vaccine?
Options :

1. # Remdesivir

2. % Sputnik V

3. % Covaxin

4. # Covishield

Question Number : 68 Question Id : 54062623938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HRd P Ugell W= COVID-19 IF T 719 T 82

Options :



1. ® ISR
2. % WaH® v
3. ¢ DI
4. % PHIARIE

Question Number : 69 Question Id : 54062623939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who has been elected as the first female Vice President of the United states?
Options :

1. # Oprah Winfrey

2. # Melinda Gates

3. % Anne Armstrong

4. ¥ Kamala Harris

Question Number : 69 Question Id : 54062623939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y gAEes Wy &1 Uga Afedl SU-IFUT & ¥4 H I T 67
Options :

1. % 3R faTh

2. # Tfeier ey

3. % T ST

4. ¥ HHA RE

Question Number : 70 Question Id : 54062623940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In September 2021, which of the following institution established a centre of Excellence on quantum technologies to bring research activities in
the related field?

Options :
1. ¢ 1IT Delhi



2. % 1IT Kanpur
3. % IIT Roorkee
4. % TIT Kharagpur

Question Number : 70 Question Id : 54062623940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬁmzom # frofaRed 8 O fog IRim A Taftd 83 8 sradum iafaferl & am & e sicd Maififedl R ST o &I RITIT
9

Options :

1. ¢ 3f13.31m8 &, faweht

2. % 3E.3M5.E. HER

3. % 3T3.3775.2). TSHI

4. % 3fT3.371%.C1. WSTR

Question Number : 71 Question Id : 54062623941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which city from India has been recognized as a 2020 Tree City of the World by the Arbor Day Foundation and the Food and Agriculture
Organization (FAO)?

Options :

1. % Bhopal

2. ¥ Hyderabad
3. % Chennai

4. % Lucknow

Question Number : 71 Question Id : 54062623941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o URTIT TR BT RAR S BISSIA dUT 8 TS TR HRUGSIRM (Th.T.31.) fay &1 & Rife 2020 #Y aRg Araan < it g2
Options :

1. % Hgra




2. ¥ BEE
3. % TS

4. % GRS

Question Number : 72 Question Id : 54062623942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with composition of the house of the people?
Options :

1. % 79

2. % 80

3. ¥ 81

4. % 84

Question Number : 72 Question Id : 54062623942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR AU BT DI AT SR E AHqHT B IR I Talerd 52
Options :

1. ® 79

2. % 80

3. ¥ 81

4. % 84

Question Number : 73 Question Id : 54062623943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which article of the Indian Constitution deals with conferment on the supreme court of powers to issue certain writs?
Options :

1. % 135

2. % 138



3.4 139
4. % 136

Question Number : 73 Question Id : 54062623943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR T BT 9 T e $o Re (bTer &1 XfwTal ol I TraTad & Ued fhar S ¥ Jeifdd 82
Options :

1. % 135

2. % 138

3.9 139

4. % 136

Question Number : 74 Question Id : 54062623944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following subject(s) is/are mentioned in the Union list?

I. Central Bureau of Intelligence and Investigation
II. Extradition
III. Insurance

Options :

1. * Tand II

2. % Iland III
3. % land III

4. 1,11 and III

Question Number : 74 Question Id : 54062623944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed & @ HF 1/ favg/wd) o1 Jeokg 99 9=t 7 /82
. H-51T SRGET MR SN0 &I




1. Yy
TI1. ST

Options :

1. % 1dY1 1

2. ® 11 dUT I
3. % 1dYUT I
4. 111 dYT 1T

Question Number : 75 Question Id : 54062623945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
With respect to the Indian constitution, which of the following pair is/are correct?

I. Third Schedule — Forms of Oaths or Affirmations
II. Fourth Schedule — Allocation of seats in the Council of States

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. #® Neither I nor II

Question Number : 75 Question Id : 54062623945 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR I3y & geuf A Fafefed 8 § o 918 gm agl 2122

. RT3 — 9y 1 Uik & 1Ry

11 A1t ST - ST THT & AT} BT fTee
Options :

1. % had I

2. % Had I

3. ¢ 1 qUT I A




4. % ATEIIATSII

Question Number : 76 Question Id : 54062623946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Where is the world's largest cricket stadium situated?
Options :

1. ¥ Ahemdabad

2. % Kolkata

3. ¥ Mumbai

4. % Kanpur

Question Number : 76 Question Id : 54062623946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3y 1 gad g1 b R iiegy wal Ry 89
Options :

1. ¥ 3{gHcldIq

2. % HIADIC

3. % Hag

4. % PpIIYR

Question Number : 77 Question Id : 54062623947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which team won the 2019 ICC Under 19 world cup?
Options :

1. # England

2. # Australia

3. ¥ Bangladesh

4. % India



Question Number : 77 Question Id : 54062623947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2019 37189 4T 37U 19 fay B fobg 1A A Sffar ur
Options :

1. % $iUg

2. % 3fiecfer

3. ¢ SR

4. % YRd

Question Number : 78 Question Id : 54062623948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which country is one of the co-host of 2023 FIFA women's world cup?
Options :

1. # South Africa

2. % France

3. ¥ Australia

4. # India

Question Number : 78 Question Id : 54062623948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2023 fOrth1 Afge fay HU BT IU AFEH D 1 4 &2
Options :

1. % FI3Y 3MhIchT

2. % g

3. ¢ 3fiReferar

4. % HRd



Question Number : 79 Question Id : 54062623949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sports — sportsperson is correct?

I. Athletics — Andre Russell
II. Motorsport — Usain Bolt

Options :

1. * Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 79 Question Id : 54062623949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - Fare) &1 Rl & ¥ 19 91 gm I8t 82

1. TYQIfeeRT - 3 Td
1. AleT@e - IV dliee
Options :

1. % Had |

2. % Had I

3. % [ UGl

4. AT

Question Number : 80 Question Id : 54062623950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following pair of sports — sportsperson is correct?

I. Tennis — Shafali Verma
II. Cricket — Smriti Mandhana

Options :



1. * Only I

2. % Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 80 Question Id : 54062623950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T - faare) &1 Rl & @ o9 91 gm I8t 82

. ST - RITer A
11. fohope - Tgfa Her
Options :

1. % $had |

2. ¢ Had I

3. % [ QYT

4. % FrAIATA

Arithmetic Abilityl

Group Number : 5

Group Id : 540626940
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



Arithmetic Abilityl

Section Id : 5406261187
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 5406261413
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 54062623951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of [1[1.2]: . (4 2} ?
()~ 1)’

Options :
1. % 2
2.9 4
3. % 1/2
4. % 1/4

Question Number : 81 Question Id : 54062623951 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(102)"—(42)° &7 =1et 7T &2
(5)°- @21

Options :




1. % 2
2.¥4
3. % 172
4. % 1/4

Question Number : 82 Question Id : 54062623952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the value of 1 ) 1 4 1 £ 1
VIT+NO I3+ 11 T+45 9447
Options :
V13-+5
1. g

2. %
-3
2
3. %
J13 -5
4, %

Question Number : 82 Question Id : 54062623952 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



0 1 1 1
JT+J8 B+ JT++5 B+7

Options :

N13-+5
2

T AT FIT 27

1. ¢

V13445

) ® 2

V5 -413
2

3. %

B3

4, %

Question Number : 83 Question Id : 54062623953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

M is the largest number which can exactly divide 40, 70, 110 and 200. N is the largest two digit number which is exactly divisible by 2, 3 and 5.
What is the value of M + N?

Options :
1. * 90
2. % 110
3.94100
4. % 190

Question Number : 83 Question Id : 54062623953 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

M I8 TeY S5t WA 8, S 40, 70, 110 TUT 200 PT YUid: fAUTRTT = Ahell 81 N T 3ich| B a8 Ja4 g1 AT &, il 2, 3 TUT 5 ¥ guia:
QUi SR 81 M + N BT AF T R?

Options :

1. # 90

2. % 110

3.% 100

4. % 190

Question Number : 84 Question Id : 54062623954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What iz the valiie of ]T>c:3+6><]2+5><?+14><4+5+]5><5?
18+6+5x15+34+Tx14+21x3

Options :
5, § i
111

317
, % 119

347
;% 42

341

126
4.9

Question Number : 84 Question Id : 54062623954 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

17x3+6x12+5x7+14x4+5+15x5 T AT FIT 22
18+6+5x15+3+Tx14+21x3

Options :
312
111

317
» % 119

347
;% 42

341

126
4.

Question Number : 85 Question Id : 54062623955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

3.7 _ 8
L —>—>—
14" 13 48

R, 'x‘l—i-lli :=-21£—3l
g 4 4 g,

e e

Options :



1. % Only I

2.9 Only II

3. % BothIandII
4. # Neither I nor II

Question Number : 85 Question Id : 54062623955 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffEd 3 3 19 918 HuF 98 8780

3.7 _ 8
L. —>—>
11 13 18

ol B 1 1
s By T ) e e R ol
7 A 4 2

Options :

1. % Had |

2. ¢ HAd I

3. % [ QYT
4. % qEIIATR I

Question Number : 86 Question Id : 54062623956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average savings of Anil of 5 days is Rs. 250. If his savings for the first 4 days is Rs. 235, Rs. 240, Rs. 245 and Rs. 258 respectively, then
what is his saving of the 5th day?

Options :

1. ¥ Rs. 272
2. % Rs. 298
3. % Rs. 274
4. % Rs. 300



Question Number : 86 Question Id : 54062623956 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Bt 5 &l 1 3 F=Id 250 U § | TfS ITD! UYH 4 =1 B = BHRT: 235 T, 240 T, 245 BUI YT 258 TYT g, I 3BT 5
&7 ot sad T R?

Options :

1. ¥ 27230
2. % 208 ¥TY
3. % 274309
4. % 300 399

Question Number : 87 Question Id : 54062623957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Abhishek marks the price of his laptop 60 percent above the cost price. He allows his customer a discount of 30 percent on the marked price.
What is the profit percentage?

Options :

1. # 14 percent
2. % 10 percent
3. % 12 percent
4. % 15 percent

Question Number : 87 Question Id : 54062623957 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STV 30 QUi & Yoo &1 hd Hed ¥ 60 Uia=id i ifdhd w1 81 98 3U- e d1 3ifdrd T IR 30 UfA=Id &1 Fe gl gl ary
gferRId 31 82

Options :

1. % 14 gfa=rd

2. % 10 gfa=rd

3. ¢ 12 Ufaerd



4. % 15 yfaerd

Question Number : 88 Question Id : 54062623958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Average weight of group of 51 boys is 43 kg and average weight of group of 31 girls is 33 kg. One boy and one girl leave the group and a new
boy and a new girl join the group. The average weight of both the groups becomes 40 kg each. The average weight of boy and girl who leave the
group is 38 kg. If the weight of new girl is 55 kg, then what is the weight of new boy?

Options :

1. ® 89 kg
2. % 87kg
3. ¥ 85kg
4. % 90 kg

Question Number : 88 Question Id : 54062623958 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

51@%@@@%%43%121%624131@%%@ BT 3 HR 33 6 U1, B | Uh TS ] IUT U S| WHE 318
34 & 3R T T ASHT aUT U s AS D! ﬁmﬁae‘rﬁrﬁ%mﬁ:ﬁw@ﬁﬁmmeﬁwmmﬁ?ms‘rw%waammn
c150r>lx_rﬁ{-llj\629ISaﬁ%W@WW%%W%Iqﬁﬂéaﬁﬁlﬂ?%ﬁ?m%?ﬁwmﬁlﬂ?w%‘?

Options :

1. % gofhm.
2. % g7fh .
3. ¢ 85 fh .
4. % 90 fopam,

Question Number : 89 Question Id : 54062623959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 45 is subtracted from a number, then number becomes 90 percent of itself. What is the number?
Options :

1. % 440



2. % 445
3. ¥ 450
4. %= 455

Question Number : 89 Question Id : 54062623959 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fe T T B F 45 B! ITIT S B, A W W Y 90 U=t 81 el 8 | SR m g2
Options :

1. % 440

2. % 445

3. ¥ 450

4. % 455

Question Number : 90 Question Id : 54062623960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The price of a pen is firstly decreased by 20 percent and then increased by 40 percent. What is the percentage increase in the price of pen?
Options :

1. * 20 percent

2. % 10 percent

3. % 22 percent

4. ¥ 12 percent

Question Number : 90 Question Id : 54062623960 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T U & S B U8 20 U= Bt HH! Bi 1T § aT {40 UfI=Id &1 3G &1 718 81 U9 &1 Hiad H fova Ufa=d &1 s 85 &7
Options :

1. % 20 gfa=rd

2. % 10 gfa=rd



3. % 22 Ufa=d
4.+ 12 yfawd

Question Number : 91 Question Id : 54062623961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fresh fruits contains 50 percent water by weight while dried fruits contains 10 percent water by weight. If 100 kg of dried fruits are obtained
from x kg of fresh fruits, then what is the value of x?

Options :

1. # 200 kg
2. % 155kg
3. % 270 kg
4,9 180 kg

Question Number : 91 Question Id : 54062623961 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o Hd H HR & IR 50 Ufawrd U € Siafe 9@ a # YR & 3R 10 Ufawd urt €1 3fe x .71, as wal ¥ 100 5. 1. 9@ wa
T U &, <Y x &1 T &1 82

Options :

1. % 200 fo.am.

2. % 155fh ..

3. % 270 fob. 3,

4. 180 fh 7.

Question Number : 92 Question Id : 54062623962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a town is 100000. Male population increase by 15 percent and female population increase by 22.5 percent. If the total
population becomes 118000, then what was the initial number of males?

Options :
1. ¥ 60000



2. * 69000
3. % 40000
4. % 49000

Question Number : 92 Question Id : 54062623962 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T UER P SHIAT 100000 & | G 1 SHEREAT 15 UfARId J 9¢ Sl & IUT AfRanat ol SiHeRedt 22.5 Ufawd § 9¢ Sk /1 afe $a
SIRIREAT 118000 81 St 7, A T8l Bt YRS Tveam m e

Options :

1. ¥ 60000

2. % 69000

3. % 40000

4. % 49000

Question Number : 93 Question Id : 54062623963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of selling price to the cost price is 13 : 18. What is the loss percentage?
Options :

1. % 26.67 percent

2. % 27.77 percent

3. % 29.09 percent

4. % 30 percent

Question Number : 93 Question Id : 54062623963 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faehd T &1 30 Yod ¥ 13 : 18 P 3JUId 7 | BT Ufa=rd & g2
Options :

1. % 26.67 Ufd2rd
2.+ 27.77 Gfaerd




3. % 29,00 Ufaerd
4. % 30 gfaerd

Question Number : 94 Question Id : 54062623964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Selling price of an article is Rs. 722. If loss percentage is 24 percent, then what is the cost price of article?
Options :

1. ¥ Rs. 950

2. % Rs. 880

3. ¥ Rs. 920

4. % Rs. 1080

Question Number : 94 Question Id : 54062623964 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH a5 $1 fashd Ged 722 ¥ g | Al g1 fa=rd 24 Ufawrd 8, f a3 &1 %a 9ed 1 62
Options :

1. ¢ 950 34U
2. % 880 %0Y
3. % 920 %09
4. % 1080 3T

Question Number : 95 Question Id : 54062623965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The selling price of an article is Rs. 312 and profit percent is 20 percent. If the profit percentage is 30 percent, then what will be the selling price
of the article?

Options :

1. % Rs. 360
2. % Rs. 350
3. # Rs. 400



4. % Rs. 338

Question Number : 95 Question Id : 54062623965 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UH a¥q &1 fahd Yed 312 U § a7 aTH Tia=rd 20 Ufa=rd & 1 afe arv wfa=rd 30 Ufa=rd 8, df 9% &1 fasha Yed o1 g2
Options :

1. % 360 39U

2. % 350909

3. % 400 309

4. ¥ 338 30Y

Question Number : 96 Question Id : 54062623966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Suresh sells a bottle at a profit of 20 percent. If both the cost price and selling price are reduced by Rs. 80, then the profit becomes 40 percent.
What is the initial cost price?

Options :

1. % Rs. 200
2. % Rs. 150
3. ¥ Rs. 160
4. % Rs. 140

Question Number : 96 Question Id : 54062623966 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I TS S BT 20 UTA=Td b oH RS9l 21 AfS 50 Hedl a1 fasha Jed <1 1 80 TUY | HH fohar ST, ot o 40 UfAId 8 S 8|
TR Y Yol 182

Options :

1. % 200 39

2. % 15030




3. ¢ 160 ST
4. % 140 3T

Question Number : 97 Question Id : 54062623967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=
re

If p: q=2: 1. then what is the value of %p;q)) ?
Options :
1.¥5/3
2. % 7/3
3. % 3/5
4. #® 3/7

Question Number : 97 Question Id : 54062623967 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

He prg=2e9 %,HT(p:+q:)$rm?rﬁT§‘?
(p*-<)

Options :

1. 573

2. % 773

3. % 3/5

4. % 37

Question Number : 98 Question Id : 54062623968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The incomes of X and Y are in the ratio 3 : 4 respectively and their expenditure are in the ratio 5 : 4 respectively. If X saves Rs. 4000 and Y saves
Rs. 8000, then what will be the income of X?



Options :

1. ¥ Rs. 9000
2. % Rs. 12000
3. # Rs. 15000
4. # Rs. 6000

Question Number : 98 Question Id : 54062623968 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X AUTY BT S HAE: 3 : 4 % U B g qUT 3% o9 HH: 5: 4 P UM | 5| Al X, 4000 T T § TTY, 8000 ¥ AT &, ol
X &1 1Y 1 g

Options :

1. ¢ 9000 3T
2. % 12000 30
3. % 15000 30
4. % 6000 3T

Question Number : 99 Question Id : 54062623969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X and Y enter into a partnership and invested Rs. 4000 and Rs. 2000 respectively in the business. After 9 months, Z also joins the business with
an investment of Rs. 16,000. At the end of one year, they earn a the profit of Rs. 1330. What is the profit share of Y?

Options :

1. % Rs. 494
2. ¥ Rs. 266
3. % Rs. 284
4. % Rs. 376

Question Number : 99 Question Id : 54062623969 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X AUTY 3 U GraieRt § YA fodr auT soadmd | BHT: 4000 ST 9YUT 2000 30 a9 fad | 9 AeH a1g z it saaa9ma & 16000 300 &



9w & Ty AT ST A1 31 Uh a8 & 3id H IBiA 1330 SUY ATH HHMAT| Y T 1Y HT = R 82
Options :

1. % 494 370

Question Number : 100 Question Id : 54062623970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The simple interest received on a sum for 20 years is 4/5 of the sum. What is the annual rate of interest?
Options :

1. # 6 percent

2. # 5 percent

3. % 4 percent

4. % 4.8 percent

Question Number : 100 Question Id : 54062623970 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T XIMRT TR 20 IO o ToT TTe fobam T7T ATEROT TS X11RT BT 4/5 & | ST D AT e &= ol 62
Options :

1. % 6 Ufaerd

2. % 5Yfderd

3. ¢ 4 gfa=rd

4. % 4.8 yfa=rd

Arithmetic Ability2

Group Number : 6
Group Id : 540626941



Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and Clear Response :

Sub-Section Number :
Sub-Section Id :
Question Shuffling Allowed :

Question Number : 101 Question Id : 54062623971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sum becomes 1.96 times of itself in 2 years when invested at compound interest (compounding annually). What is the annual rate of interest?

Options :

1. # 20 percent
2. % 25 percent
3. # 48 percent
4. ¥ 40 percent

Arithmetic Ability2

5406261188
1

Online
Mandatory
20

20

20

Yes

1
5406261414
Yes



Question Number : 101 Question Id : 54062623971 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH IR Thgfa ST R (@M daior) A fd S W 2 auf # W98 &1 1.96 AT 81 91Tl ¢ | STST &1 a1fies &2 ol 82
Options :

1. % 20 Ufd=rd

2. % 25 Yfd=rd

3. % 48 UfcRId

4.+ 40 Gid=rd

Question Number : 102 Question Id : 54062623972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compound interest on (compounding annually) a certain sum for 2 years at the annual rate of 13 percent is Rs. 1384.5. What will be the simple
interest on the same sum at the same rate of interest for 2 years?

Options :

1. % Rs. 1200
2. % Rs. 1360
3. # Rs. 1560
4. ¥ Rs. 1300

Question Number : 102 Question Id : 54062623972 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A IR W 13 vfawrd &t arftfes @R 2 auf &1 Iwgia T @M TaH) 1384.5 FUT g | THA TR TR ST &1 YA = F 2 a8
BT ATYRUT TS T BRT?
Options :

1. % 1200 300
2. % 1360 39U
3. % 1560 304
4. ¥ 1300 39Y



Question Number : 103 Question Id : 54062623973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A car crosses a 450 metres long road in 90 seconds. What is the speed of car?
Options :

1. ¥ 18 km/hr

2. % 24 km/hr

3. % 30 km/hr

4. % 36 km/hr

Question Number : 103 Question Id : 54062623973 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS HR TP 450 HeX el TSP &1 90 YHUS H UR R odll 8 | HR B 1 F1 82
Options :

1.+ 18 foo ot eie

2. % 24 T ot der

3. % 30 fo i der

4. % 36 fop W A

Question Number : 104 Question Id : 54062623974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains move from stations C and D respectively at same time. Both trains move towards each other at speeds of 21 km/hr and 63 km/hr
respectively. When they meet each other, then the second train had travelled 120 km more than the first. What is the distance between C and D?

Options :

1. % 240 km
2. % 180 km
3. % 290 km
4. % 330 km

Question Number : 104 Question Id : 54062623974 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YISl Uep & gAY TR AT W C 94T D & Teldlt &1 Sl oS al shwer: 21 fob 7 /der auT 63 b it /eier &1 11 & Uep ger i
aﬁ?gﬂ?ﬂ%ﬂ&é@gﬂﬁfﬁﬂ?ﬁ%ﬁmmmaﬁﬂﬁmﬁ1201%5.111meﬁa—cﬁ%camn%mzrﬁgﬁ
182

Options :

1. ¢ 240 f 1Y,

2. % 180 fop 1.

3. % 200 f 1.

4. % 330 fop A,

Question Number : 105 Question Id : 54062623975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Time taken by boat to cover a distance of x km in upstream is 4 hours more than the time taken by the boat to cover the same distance in
downstream. Speed of the boat in upstream is 6 km/hr. Which of the following statement(s) is/are correct?

I. If the value of x is 36 km, then speed of boat in downstream is 18 km/hr.
I1. If the speed of boat in downstream is 9 km/hr, then the value of x is 72 km.

Options :

1. % OnlyI

2. % Only II

3. * Neither I nor II
4. ¥ BothIand II

Question Number : 105 Question Id : 54062623975 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
URT & Ufadpd x fob M. T g T = | 19 g1 fordy 71 993, 99 G321 Dl URT & 3% d a9 B § =19 §RT o 7T 99 3 4 ¢
3P B W%qﬁwwﬁvﬁmﬁnﬁ/ﬂa%ﬁqﬁr@aﬁﬁﬁ?w@ra?ww%%?

1. fE x BTAF 36 fb. 11, §, T YRT & 3% d =19 &1 Tid 18 fb. A AT gl
I1. A YRT & 3% d =1d Bi 7fd 9 ot /dieT §, O x &1 01 72 fs 7. g




Options :

1. % FHadl

2. % Had Il

3. % ATRIIATRII
4. ¢ 13U G

Question Number : 106 Question Id : 54062623976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

C and D together can complete a work in 40 days. C is 40 percent more efficient than D. C alone can complete the same work in how many days?
Options :

1. ¥ 480/7 days

2. * 480/11 days

3. % 470/7 days

4. % 460/9 days

Question Number : 106 Question Id : 54062623976 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ca%ngﬁramqaﬁaﬁrtfﬁm%ﬂﬁﬁwmm%’lc,D®4ome%|chmﬁWﬁﬁwm
Tl g7

Options :

1. ¢ 4807 faa

2. % 480/11 f&A

3. % 470/7 faq

4. % 460/9 fa=1

Question Number : 107 Question Id : 54062623977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two pipes can fill a tank in 20 hours and 24 hours respectively and a outlet pipe can empty 44 gallons of water per hour. All the three pipes
working together can fill the same empty tank in 40 hours. What is the capacity of the tank?



Options :

1. ¥ 660 gallons
2. # 610 gallons
3. % 670 gallons
4. # 700 gallons

Question Number : 107 Question Id : 54062623977 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3l UTSU U Th1 Bl HHRT: 20 TS TUT 24 6 H W Ihd & IUT U MR arsy ufd gel § 44 e gt WTelt % FebT g | i1 Uy amy
e I WTel dbl Bl 40 B T WR Tdhd § | Th] 1 &HAT o1 82

Options :

1. ¢ 660 T
2. % 610 e
3. % 670 oA
4. % 700 T

Question Number : 108 Question Id : 54062623978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Working together R and S have to type a book containing 150 pages. R takes 6 hours to type 48 pages and S takes 7.5 hours to type 30 pages. R
typed first 60 pages alone and the last 90 pages were typed by R and S together. How much time will be taken to type the complete book?

Options :

1. ¥ 15 hours
2. % 17 hours
3. % 20 hours
4. % 25 hours

Question Number : 108 Question Id : 54062623978 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1Y FriaR T Rd §U R AUTS 1 TS 150 UF dTel fhdle TIsU Bt & | R, 6 S T 48 UF TT8U HRl § AT S, 7.5 °He | 30 UF 13U Hdl



81 R - U8A 60 8 B 3hdl CTRY fohdT T RE & 90 UF R TUT S GRT 1Y TSR <=y o 781 G fordld &b <Ry ol H T+ 9
feram e
Options :

1.¥ 159¢
2. % 179¢
3. % 20e
4. % 25€C

Question Number : 109 Question Id : 54062623979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Radius of base of a cylinder is 3.5 cm. Its height is 10 cm. What is the curved surface area of cylinder?
Options :

1. ® 275 cm?

2. % 165 cm?

3. ¢ 220 cm?

4. % 110 cm?

Question Number : 109 Question Id : 54062623979 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T S0 & YR B BFodr 3.5 A1, B1 D! SaTs 10 F.H. | S0 71 ah YN & T 82

Options :

1. % 27592
2. % 1659112
3. 2209412
4. % 1109412

Question Number : 110 Question Id : 54062623980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A solid metallic cube has side 2.2 cm. It is melted to form small spheres with radius 0.1 cm. How many spheres are obtained?
Options :
1. #® 2119
2. % 1630
3.9 2541
4. % 2788

Question Number : 110 Question Id : 54062623980 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2.2 Q.. YT aTE U YT 1 31 I ¢ | 39 fUaare 0.1 9.1, Ba1 a1d 8ic Md 891 371d 8 | faba Tiiel U1 guo
Options :

1. ® 2119

2. % 1630

3.9 2541

4. % 2788

Question Number : 111 Question Id : 54062623981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cylindrical well of height 18 metres and radius 28 metres is dug in a 168 metres long and 44 metres wide field. The earth taken out is spread
evenly on the field. What is the increase in the level of the field?

Options :

1. # 5 metre
2. % 7 metre
3. % 9 metre

4. % & metre

Question Number : 111 Question Id : 54062623981 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

168 Hiex A qUT 44 Hiex g WA H T 18 Hiex SdTs adT 28 Hiex B0 ard SaTeR $U & Wial a1 7 | e 18 it dl @d # U



T =0 § o T 8 | Wd & Wk H fba-t 3fS g8 82
Options :

1. % 5HIeR

2. % 7HIR

3. ¥ 9 HIcR

4. % gHICY

Question Number : 112 Question Id : 54062623982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following statement(s) is/are correct?

L. If sides of a triangle are 6 cm, 8 cm and 10 c¢m, then its area is 24 cm?.

II. If circumference of a circle is 6.6 cm, then its diameter is 1.05 cm.
Options :

1. % Only I

2. % Only I

3. # BothIand II

4. #® Neither I nor II

Question Number : 112 Question Id : 54062623982 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o I/ Y9 I8t 8/8?

1. I T AYST &1 Yol 6 T.1T., 8 T, 941 10 F.. 8, A ST &A% d 24 YW 2 g
1. TfE T g Bt URfY 6.6 .. B, O 39T o1 1.05 T, B

Options :

1. ¥ $Had |

2. % Had Il

3. % [ UGl
4. % I I



Question Number : 113 Question Id : 54062623983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of workers in 6 different departments. The number of workers in each department is shown as a
percentage of total number of workers in these 6 departments.

C1
c6 |10%
19% i
15%
Cs
17% C3
18%
C4
21%

If total number of workers are 5000, then how many workers are there in C3?
Options :

1. ¥ 900

2. % 750

3. % 1050

4. % 950

Question Number : 113 Question Id : 54062623983 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
- feam g o 6 faftrsr faumT & seanial o 9 o a1l ¢ | U faHmT § SHarial &t 9811 61 37 6 [aURT & $df dHanal
&1 AT & U= & =0 § G=I1 T 6|



C6  |10%
19% &
15%
cs
17% C3
18%
C4
21%

g HHARGT BT Ha A=AT 5000 B, A €3 H fora HHAR g2
Options :
1. % 900
2. % 750
3. % 1050
4. % 950

Question Number : 114 Question Id : 54062623984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the time taken on 6 steps of code development. The time used by each step is shown as a percentage of total
time taken by these 6 steps.



Total time on developing the code is 600 hours.
A = Total time taken on S1 and S3.

B = Total time taken on S2 and S6.

What is the value of B — A?

Options :
1. % 12
2.¥6
3. % 18
4. % 36

Question Number : 114 Question Id : 54062623984 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fean T 9 o e SdTe & 6 fafis TRON IR @ aTd 99 & GRITT ¢ | T oRUT IR T aTdl THT $I 3 6 IR01 IR & aTdl
S I & UII=Id & FU H ST T8 |




PIS JcTe- H T Gel P THI 600 Te &
A=Sl1 HQJTSSEITQ'I‘I:I dicll el dHY

B = S2 dYT S6 U i1+ dlcll Pt <HY

B - A ®BTHF HT8?

Options :

1. % 12

2.4 6

3. % 18

4. % 36

Question Number : 115 Question Id : 54062623985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of cars sold by 7 different showrooms. Number of cars sold by each showroom are represented in
terms of percentage with respect to the total number of cars sold by these 7 showrooms.



Which of the following statement(s) is/are correct?
I. If total cars are 72000, then cars of S3 are 18400.
II. If cars of S5 are 3300, then total cars are 18000.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. ¥ Neither I nor II

Question Number : 115 Question Id : 54062623985 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fea o g fa 7 fafte wined & o arell Ml &1 TRe &1 a=iial | e Qe H fod- arell MiSdl &1 68 &1 39 7 AReHl
T e arel MSTl &) ol e & URiRid & ®U § a2 T 3|




fafafed & 4 &F 98 HYF 981 8782

. If Ho MISAT 72000 &, T S3 DT ST 18400 & |
I1. fE S5 1 MSAT 3300 B, A Hd MSAT 18000 & |
Options :

1. % FHadl

2. % Had Il

3. % [ UGl

4. TRIIATRII

Question Number : 116 Question Id : 54062623986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie chart given below shows the number of hospitals in 8 different states. The number of hospitals in each state is shown as the percentage of
the total number of hospitals in these 8§ states.



Which of the following statement(s) is/are correct?
L. If number of hospital in S1 are 350, then number of hospital in S6 are 840.
II. If the number of hospitals in S7 are 451, then total number of hospitals in S4 and S8 are 561.

Options :

1. % Only I

2. % Only II

3. % Both Iand Il
4. #® Neither I nor II

Question Number : 116 Question Id : 54062623986 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¥ $Had |

2. % Had Il

3. % [ UGl
4. % I I

Question Number : 117 Question Id : 54062623987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the number of students in 6 schools.

640

480

350

180

Number of students

51 52 53 54 55 56
Schools

What is the average of number of students in S4, S6 and S1?
Options :

1. #® 236.66

2. % 216.33



3. ¥ 216.66
4. %= 286.66

Question Number : 117 Question Id : 54062623987 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. * 236.66
2. % 216.33
3. ¥ 216.66
4. % 286.66

Question Number : 118 Question Id : 54062623988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The bar graph given below shows the number of deers in 6 zoos.
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F1 — Total number of deers in J and K
F2 — Difference between numbers of deers in M and P
What is the value of F1 + F2?

Options :
1. % 112
2. % 136
3. % 142
4. 108

Question Number : 118 Question Id : 54062623988 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 112

2. % 136

3.% 142

4.4 108

Question Number : 119 Question Id : 54062623989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The bar graph given below shows the marked price of 5 articles and discount percentage offered on them.



110
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20 23
| i
Al A2 A3 Ad A5
OMarked Price  EDiscount Percentage

Selling price = Marked price — Discount
Discount percent = [Discount/Marked price] x 100

Which of the following statement(s) is/are correct?
I. Selling price of Al is 10 more than the selling price of A4.
II. Ratio of selling price of A2 and marked price of A5 is 11 : 7 respectively.

Options :

1. ¥ Only 1

2. % Only II

3. # Both I and II
4. ® Neither I nor II

Question Number : 119 Question Id : 54062623989 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. Had I
2. % Had Il
3. % [ UGl
4. % qEIIATE I

Question Number : 120 Question Id : 54062623990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The line chart given below shows the quantity of milk sold by a milkman in 8 towns.

Quantity of milk sold

A B C D E F G H
Towns

L1 — Total quantity of milk sold in A, D, E and H

L2 — Total quantity of milk sold in D, B, C and G

L3 — Average of total quantity of milk sold in B, A and G
What is the value of (L1 + L2) — L3?

Options :
1. % 780
2. % 640
3. % 810
4. % 890

Question Number : 120 Question Id : 54062623990 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 780

2. % 640

3. % 810

4.+ 890
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Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English1

Section Id : 5406261189

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261415

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 54062623991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Air quality of (1)/ Shimla is better (2)/ than Delhi. (3)/ No error (4)
Options :

1. # Air quality of

2. % Shimla is better

3. % than Delhi.

4. % No Error

Question Number : 121 Question Id : 54062623991 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Air quality of (1)/ Shimla is better (2)/ than Delhi. (3)/ No error (4)
Options :

1. % Air quality of

2. # Shimla is better

3. % than Delhi.

4. ¥ No Error

Question Number : 122 Question Id : 54062623992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The first light-images (1)/captured are false (2)/ color image of sun. (3)/ No error (4)
Options :

1. # The first light-images

2. # captured are false

3. % color image of sun.

4. ¥ No Error

Question Number : 122 Question Id : 54062623992 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

The first light-images (1)/captured are false (2)/ color image of sun. (3)/ No error (4)
Options :

1. # The first light-images

2. % captured are false

3. % color image of sun.

4. % No Error



Question Number : 123 Question Id : 54062623993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Any ant has a job (1)/ and contributes to the (2)/ health of the colony. (3)/ No error (4)
Options :

1. ¥ Any ant has a job

2. # and contributes to the

3. % health of the colony.

4. ¥ No Error

Question Number : 123 Question Id : 54062623993 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Any ant has a job (1)/ and contributes to the (2)/ health of the colony. (3)/ No error (4)
Options :

1. ¥ Any ant has a job

2. % and contributes to the

3. # health of the colony.

4. % No Error

Question Number : 124 Question Id : 54062623994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Our bodies accumulate (1)/ mutations in somatic tissues (2)/ throughout our life. (3)/ No error (4)
Options :

1. # Our bodies accumulate



2. * mutations in somatic tissues
3. % throughout our life.
4. % No Error

Question Number : 124 Question Id : 54062623994 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

Our bodies accumulate (1)/ mutations in somatic tissues (2)/ throughout our life. (3)/ No error (4)
Options :

1. * Our bodies accumulate

2. % mutations in somatic tissues

3. ¥ throughout our life.

4. % No Error

Question Number : 125 Question Id : 54062623995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We all get angry (1)/ and say hurtful things (2)/ we don’t meant sometimes. (3)/ No error (4)
Options :

1. # We all get angry

2. % and say hurtful things

3. ¥ we don’t meant sometimes.

4. % No Error

Question Number : 125 Question Id : 54062623995 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.



We all get angry (1)/ and say hurtful things (2)/ we don’t meant sometimes. (3)/ No error (4)
Options :

1. # We all get angry

2. % and say hurtful things

3. ¥ we don’t meant sometimes.

4. % No Error

Question Number : 126 Question Id : 54062623996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

My cousin started a newly job on Monday.

Options :

1. ¥ anew job on
2. # anewly job at
3. % anew job in

4. ¥ No Improvement

Question Number : 126 Question Id : 54062623996 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

My cousin started a newly job on Monday.
Options :

1. ¥ anew job on

2. ®% anewly job at

3. % anew job in

4. ¥ No Improvement



Question Number : 127 Question Id : 54062623997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

One of them goes playing cricket at the nearby stadium.
Options :

1. # go to play

2. # play

3. % goes to play

4. ¥ No Improvement

Question Number : 127 Question Id : 54062623997 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

One of them goes playing cricket at the nearby stadium.
Options :

1. # go to play

2. % play

3. % goes to play

4. ¥ No Improvement

Question Number : 128 Question Id : 54062623998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Martha had not made out her mind about flying out to the funeral.

Options :



1. # did not made out
2. ¥ has not made up
3. % cannot made up

4. ¥ No Improvement

Question Number : 128 Question Id : 54062623998 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Martha had not made out her mind about flying out to the funeral.

Options :

1. # did not made out
2. % has not made up
3. % cannot made up

4. ¥ No Improvement

Question Number : 129 Question Id : 54062623999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Research on the affects of social media on user health and behaviour is still relatively new.

Options :

1. # effects of social media at user
2. # affects of social media at users
3. % effects of social media on users

4. ¥ No Improvement

Question Number : 129 Question Id : 54062623999 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

Research on the affects of social media on user health and behaviour is still relatively new.
Options :

1. # effects of social media at user

2. # affects of social media at users

3. % effects of social media on users

4. ¥ No Improvement

Question Number : 130 Question Id : 54062624000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

He had decided to play until that score did not reached forty-three thousand.

Options :

1. % that score reached

2. # that score did not reached
3. % the score reaches

4. ¥ No Improvement

Question Number : 130 Question Id : 54062624000 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the most appropriate option to substitute the underlined segment in the given sentence. If no substitution is required, select No
improvement.

He had decided to play until that score did not reached forty-three thousand.

Options :
1. % that score reached

2. * that score did not reached



3. # the score reaches

4. ¥ No Improvement

Question Number : 131 Question Id : 54062624001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He turned out to be innocent when his pockets were by the police.
Options :

1. # cleared

2. % presented

3. % filled

4. ¥ checked

Question Number : 131 Question Id : 54062624001 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

He turned out to be innocent when his pockets were by the police.
Options :

1. # cleared

2. % presented

3. # filled

4. ¥ checked

Question Number : 132 Question Id : 54062624002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Bacterial and fungal contamination in dietary supplements is not



Options :

1. ¥ uncommon
2. # tidy

3. % habitual

4. # rudimentary

Question Number : 132 Question Id : 54062624002 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

Bacterial and fungal contamination in dietary supplements is not
Options :

1. ¥ uncommon

2. # tidy

3. * habitual

4. # rudimentary

Question Number : 133 Question Id : 54062624003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I don’t know why bruises haven’t faded.
Options :

1. % there

2. % this

3. # that

4. ¥ these

Question Number : 133 Question Id : 54062624003 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

I don’t know why bruises haven’t faded.
Options :

1. % there

2. % this

3. % that

4. ¥ these

Question Number : 134 Question Id : 54062624004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

That poor village the sea was my whole world.
Options :

1. % for

2. % by

3. % at

4. % of

Question Number : 134 Question Id : 54062624004 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

That poor village the sea was my whole world.
Options :

1. % for

2. % by

3. % at

4. % of



Question Number : 135 Question Id : 54062624005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

No tourist stepped the beach as it was covered with trash.
Options :

1. # of

2. % to

3. % in

4. ¥ onto

Question Number : 135 Question Id : 54062624005 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

No tourist stepped the beach as it was covered with trash.
Options :

1. * of

2. % to

3. % in

4. ¥ onto

Question Number : 136 Question Id : 54062624006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The term anti-Semitism

P: way in central Europe at that time

Q: German agitator Wilhelm Marr to

R: designate the anti-Jewish campaigns under
S: was coined in 1879 by the



Options :

1. # QSPR
2. ¥ SQRP
3. ¥ SPRQ
4. ¥ SRQP

Question Number : 136 Question Id : 54062624006 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in correct order.

The term anti-Semitism

P: way in central Europe at that time

Q: German agitator Wilhelm Marr to

R: designate the anti-Jewish campaigns under
S: was coined in 1879 by the

Options :

1. % QSPR
2. % SQRP
3. ¥ SPRQ
4. % SRQP

Question Number : 137 Question Id : 54062624007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: traditionally the newspaper strip was also

Q: editors who regarded it primarily as a

R: at the mercy of the syndicates, publishers, and
S: circulation booster and were quick to censor

Options :
1. % QRPS
2. % PRQS



3. # SRQP
4. % RQSP

Question Number : 137 Question Id : 54062624007 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

P: traditionally the newspaper strip was also

Q: editors who regarded it primarily as a

R: at the mercy of the syndicates, publishers, and
S: circulation booster and were quick to censor

Options :

1. % QRPS
2. % PRQS
3. ¥ SRQP
4. % RQSP

Question Number : 138 Question Id : 54062624008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Characteristics of loyalty,

P: dogs has become a multibillion-dollar business

Q: earned dogs an important position in Western society,

R: friendship, protectiveness, and affection have

S: and in the United States and Europe the care and feeding of

Options :

1. ¥ SQRP
2. % RPSQ
3. ¥ RQSP
4. % QPSR



Question Number : 138 Question Id : 54062624008 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rearrange the parts of the sentence in the correct order.

Characteristics of loyalty,

P: dogs has become a multibillion-dollar business

Q: earned dogs an important position in Western society,

R: friendship, protectiveness, and affection have

S: and in the United States and Europe the care and feeding of

Options :

1. * SQRP
2. % RPSQ
3. ¥ RQSP
4. % QPSR

Question Number : 139 Question Id : 54062624009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Decline
Options :

1. ¥ Prohibit
2. # Distance
3. %* Delight

4. % Derisive

Question Number : 139 Question Id : 54062624009 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Decline



Options :

1. ¥ Prohibit
2. # Distance
3. # Delight

4. % Derisive

Question Number : 140 Question Id : 54062624010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Conserve
Options :
1. # Converse
2. # Persevere
3. ¥ Preserve

4. % Pursue

Question Number : 140 Question Id : 54062624010 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Conserve
Options :
1. #* Converse
2. % Persevere
3. ¥ Preserve

4, % Pursue

General English2



Group Number : 8

Group Id : 540626943

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General English2

Section Id : 5406261190

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261416

Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 54062624011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Dampen
Options :
1. ¥ Bedew

2. % Sear



3. # Sire

4. * Bequeath

Question Number : 141 Question Id : 54062624011 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that means the same as the given word.

Dampen
Options :

1. ¥ Bedew
2. % Sear
3. % Sire

4. % Bequeath

Question Number : 142 Question Id : 54062624012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Appeasable

Options :

1. ¥ Nettle

2. % Satiate
3. % Dissent

4. % Restrained

Question Number : 142 Question Id : 54062624012 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Appeasable



Options :

1. ¥ Nettle

2. # Satiate

3. % Dissent

4. #* Restrained

Question Number : 143 Question Id : 54062624013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Append
Options :

1. # Uppity
2. % Augment
3. ¥ Abate

4. ¥ Escalate

Question Number : 143 Question Id : 54062624013 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Append
Options :

1. * Uppity
2. % Augment
3. % Abate

4. % Escalate

Question Number : 144 Question Id : 54062624014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Choose the word that is opposite in meaning to the given word.

Applaud
Options :

1. % Hail

2. ¥ Castigate
3. ® Torrid
4. % Tout

Question Number : 144 Question Id : 54062624014 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that is opposite in meaning to the given word.

Applaud
Options :

1. # Hail

2. ¥ Castigate
3. % Torrid
4. % Tout

Question Number : 145 Question Id : 54062624015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Difference

2. # Diference

3. # Differance

4. % Diferance

Question Number : 145 Question Id : 54062624015 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. ¥ Difference

2. # Diference

3. % Differance

4, % Diferance

Question Number : 146 Question Id : 54062624016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Anualy

2. # Annualy

3. % Annually

4. # Anually

Question Number : 146 Question Id : 54062624016 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Anualy

2. % Annualy

3. ¥ Annually

4. # Anually

Question Number : 147 Question Id : 54062624017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.



Options :

1. ¥ Appropriate
2. % Apropriate
3. % Appropiate
4. ¥ Apropiate

Question Number : 147 Question Id : 54062624017 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. % Appropriate

2. % Apropriate

3. % Appropiate

4. ¥ Apropiate

Question Number : 148 Question Id : 54062624018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. # Transendent

2. ¥ Transcendent

3. # Trancsendant

4. % Transendant

Question Number : 148 Question Id : 54062624018 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt word.
Options :

1. * Transendent



2. % Transcendent
3. #* Trancsendant

4. * Transendant

Question Number : 149 Question Id : 54062624019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

In good spirits
Options :

1. # A good luck

2. # Respond sadly
3. % In charity

4. ¥ In a good mood

Question Number : 149 Question Id : 54062624019 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

In good spirits
Options :

1. % A good luck

2. # Respond sadly
3. # In charity

4. ¥ In a good mood

Question Number : 150 Question Id : 54062624020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.



Let sleeping dogs lie

Options :

1. ® To forget about a disagreement or argument

2. % To warn someone about an unknown person

3. ¥ To leave things as they are in order to avoid trouble

4. ® To keep a safe distance from the street dogs

Question Number : 150 Question Id : 54062624020 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Let sleeping dogs lie

Options :

1. #® To forget about a disagreement or argument

2. # To warn someone about an unknown person

3. ¥ To leave things as they are in order to avoid trouble

4. ® To keep a safe distance from the street dogs

Question Number : 151 Question Id : 54062624021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Wear one’s heart on one’s sleeve

Options :

1. ¥ To openly show one’s feelings or emotions
2. # To constantly worry about something

3. % To ready or likely to fight or argue

4. ® To mock someone’s genuine efforts

Question Number : 151 Question Id : 54062624021 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
In the following question, out of the given four alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Wear one’s heart on one’s sleeve

Options :

1. ¥ To openly show one’s feelings or emotions
2. # To constantly worry about something

3. % To ready or likely to fight or argue

4. ¥ To mock someone’s genuine efforts

Question Number : 152 Question Id : 54062624022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Qualified to participate
Options :

1. ¥ Eligible

2. % Skilled

3. % Capable

4. ® Priceless

Question Number : 152 Question Id : 54062624022 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

Qualified to participate
Options :

1. ¥ Eligible

2. % Skilled

3. % Capable

4. % Priceless



Question Number : 153 Question Id : 54062624023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

An amount demanded or paid to release someone from captivity
Options :

1. * Fees

2. * Penalty

3. ¥ Ransom

4. * Due

Question Number : 153 Question Id : 54062624023 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

An amount demanded or paid to release someone from captivity
Options :

1. # Fees

2. % Penalty

3. % Ransom

4. * Due

Question Number : 154 Question Id : 54062624024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A narration in which animals speak and act like human being
Options :
1. # Elegy



2. * Parable
3. * Didactic
4. « Fable

Question Number : 154 Question Id : 54062624024 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

A narration in which animals speak and act like human being
Options :

1. # Elegy

2. % Parable

3. # Didactic

4. ¥ Fable

Question Number : 155 Question Id : 54062624025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.

An inscription on a tomb
Options :

1. ¥ Epitaph

2. % Epithet

3. % Eponym

4. % Epilogue

Question Number : 155 Question Id : 54062624025 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose the word that can substitute the given sentence.



An inscription on a tomb

Options :

1. ¥ Epitaph

2. % Epithet

3. % Eponym

4. % Epilogue

Sub-Section Number : 2

Sub-Section Id : 5406261417
Question Shuffling Allowed : Yes

Question Id : 54062624026 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

The work by Corry Gellatly, a research scientist at the university, has shown that men inherit a tendency to have more sons or more daughters
from their parents. This means that a man with many brothers is more likely to have sons, while a man with many sisters is more likely to have
daughters.

In many of the countries that fought in the World Wars, there was a sudden increase in the number of boys born afterwards. The year after World
War I ended, an extra two boys were born for every 100 girls in the UK, compared to the year before the war started. The gene, which Mr
Gellatly has described in his research, could explain why this happened.

As the odds were in favour of men with more sons seeing a son return from the war, those sons were more likely to father boys themselves
because they inherited that tendency from their fathers. In contrast, men with more daughters may have lost their only sons in the war and those
sons would have been more likely to father girls. This would explain why the men that survived the war were more likely to have male children,
which resulted in the boy-baby boom. In most countries, for as long as records have been kept, more boys than girls have been born. In the UK
and US, for example, there are currently about 105 males born for every 100 females.

It is well-documented that more males die in childhood and before they are old enough to have children. So in the same way that the gene may
cause more boys to be born after wars, it may also cause more boys to be born each year.

Sub questions

Question Number : 156 Question Id : 54062624027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the central idea of the given passage?
Options :

1. ¥ Explaining the theory behind why more men are born after wars.



2. % Deducing the fact behind less females as compared to males.
3. ® Sharing different war stories and related theory with it.

4. ® Describing the importance of parents in deciding future progeny.

Question Number : 157 Question Id : 54062624028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true according to the given passage?
Options :

1. ® In the UK and the US, male population is less than the female population.

2. % More females die in teenage, resulting in more females to be born each year.
3. ¥ In most countries, more men were born after the war in their region.

4. ® Man with many brothers has the tendency to give birth to many daughters.

Question Number : 158 Question Id : 54062624029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What had been described in the research of Mr Gellatly?

Options :

1. ® With more mothers seeing a son return from the war, those sons were more likely to father daughters.
2. % With more sons seeing a son return from the war, those sons were more likely to father boys.

3. # With more daughters seeing a son return from the war, those sons were more likely to father twins.

4. ® With more daughters seeing a daughter return from the war, those daughters were more likely to mother daughters.

Question Number : 159 Question Id : 54062624030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the true meaning of the word ‘tendency’?
Options :

1. ® Latency

2. % General

3. # Averse



4. ¥ Propensity

Question Number : 160 Question Id : 54062624031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What happened after the World War I ended, in the UK?

Options :

1. # An extra three boys were born for every 100 girls

2. ¥ An extra two boys were born for every 100 girls

3. % An extra two boys were born for every 105 girls

4. ¥ 100 males were born for every 105 girls

Question Id : 54062624026 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
Read the following information carefully and answer the given questions.

The work by Corry Gellatly, a research scientist at the university, has shown that men inherit a tendency to have more sons or more daughters
from their parents. This means that a man with many brothers is more likely to have sons, while a man with many sisters is more likely to have
daughters.

In many of the countries that fought in the World Wars, there was a sudden increase in the number of boys born afterwards. The year after World
War I ended, an extra two boys were born for every 100 girls in the UK, compared to the year before the war started. The gene, which Mr
Gellatly has described in his research, could explain why this happened.

As the odds were in favour of men with more sons seeing a son return from the war, those sons were more likely to father boys themselves
because they inherited that tendency from their fathers. In contrast, men with more daughters may have lost their only sons in the war and those
sons would have been more likely to father girls. This would explain why the men that survived the war were more likely to have male children,
which resulted in the boy-baby boom. In most countries, for as long as records have been kept, more boys than girls have been born. In the UK
and US, for example, there are currently about 105 males born for every 100 females.

It is well-documented that more males die in childhood and before they are old enough to have children. So in the same way that the gene may
cause more boys to be born after wars, it may also cause more boys to be born each year.

Sub questions

Question Number : 156 Question Id : 54062624027 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the central idea of the given passage?



Options :

1. ¥ Explaining the theory behind why more men are born after wars.
2. #® Deducing the fact behind less females as compared to males.

3. # Sharing different war stories and related theory with it.

4. ® Describing the importance of parents in deciding future progeny.

Question Number : 157 Question Id : 54062624028 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following statements is true according to the given passage?
Options :

1. #® In the UK and the US, male population is less than the female population.

2. ® More females die in teenage, resulting in more females to be born each year.
3. ¥ In most countries, more men were born after the war in their region.

4. ® Man with many brothers has the tendency to give birth to many daughters.

Question Number : 158 Question Id : 54062624029 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What had been described in the research of Mr Gellatly?

Options :

1. #® With more mothers seeing a son return from the war, those sons were more likely to father daughters.
2. % With more sons seeing a son return from the war, those sons were more likely to father boys.

3. # With more daughters seeing a son return from the war, those sons were more likely to father twins.

4. ® With more daughters seeing a daughter return from the war, those daughters were more likely to mother daughters.

Question Number : 159 Question Id : 54062624030 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following words best expresses the true meaning of the word ‘tendency’?
Options :

1. #® Latency

2. % General



3. % Averse

4. ¥ Propensity

Question Number : 160 Question Id : 54062624031 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What happened after the World War I ended, in the UK?
Options :

1. # An extra three boys were born for every 100 girls
2. % An extra two boys were born for every 100 girls

3. ¥ An extra two boys were born for every 105 girls

4. % 100 males were born for every 105 girls
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Question Number : 161 Question Id : 54062624032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou ¢ e | T F1d ST
fad = HITHR 99 UH o |

Options :

1. % AHHB
2. ¢ qADITD
3. % qHHB
4. % ATHYUI]

Question Number : 161 Question Id : 54062624032 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e a1 H foear 31 wifoma|

Hfad 5 HNTHR 99 UH Sl |
Options :

1. % 3pHB

2. ¢ qd@IeIdh

3. % gHHB

4. % JHYT]

Question Number : 162 Question Id : 54062624033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fou U It # 31y 1 S|
T ufafe ugdt 2|

Options :

1. ¢ fopar-favim
2. % fqupriediy®
3. % qAgEYD

4. % eYySiydh

Question Number : 162 Question Id : 54062624033 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu ¢ aru # 31oug I Sifvg|
1 ufafeT et 81

Options :

1. ¢ foar-faRo
2. % fowanfeaty®
3. % qAgEYD

4. % IdeYSIYH

Question Number : 163 Question Id : 54062624034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T Ysg BT JHN J1d BT

UDIRIGdd

Options :
1. % JHEIQH d>Y
2. ¥ PO dY2Y




3. % R By
4. % 3D TGIY

Question Number : 163 Question Id : 54062624034 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faT 71T 2o &1 IHMN J1d HifT|

UDIRIGdd

Options :

1. % gHIGH dJy
2. ¥ PO dY2Y

3. % JWEY dY2y
4. % 3fYHI TGN

Question Number : 164 Question Id : 54062624035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f&T 71T 2req; 1 Uy J1d HifoTT |

T
Options :
1. % 9l
2.%. 9]
3.9 31
4, % ¥

Question Number : 164 Question Id : 54062624035 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 7T Ysg BT UGy J1d BT




T
Options :
1. % 9l
2.% 9]
3.9 3l
4. % 98:

Question Number : 165 Question Id : 54062624036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U g19g &1 faRivur 19 S|
AR 3reHt IR T2

Options :

1. % gRUMaras
2. ¢ TUIAT D

3. % JQAAED
4. % gD

Question Number : 165 Question Id : 54062624036 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U 919 &1 faRivr 19 S|
R e SIRH BT 2|

Options :

1. % gRUMHIIS
2. ¢ T[UTdTEdh

3, % TS
4. % IS



Question Number : 166 Question Id : 54062624037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 3i Bt I fode J1d BT
3N

Options :

1. % 3+ qu0
2. % 3+ dNU
3. ¢ 3+ TN
4. % 3+ QyuT

Question Number : 166 Question Id : 54062624037 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau TTq Treci 1 4fY fawde 1d Bife|
3=ayUy

Options :
1. % 3+ 3N
2. % 3+ dNU

Question Number : 167 Question Id : 54062624038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3u U gl & ¥ IhHe fobar 1d Pifo |
Options :

1. % Y7 A g

2. % FAIIATS

3. ¢ g e QAR §




4. % gt ST

Question Number : 167 Question Id : 54062624038 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3u TTQ 9Tt § ¥ AHHS fohar I1d Pifod |
Options :

1. % YT §

2. % ST S

3. ¥ S fhdhe WA G &

4. % Ueh ISl g

Question Number : 168 Question Id : 54062624039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 71U arery @1 o famivor 31 S|
qgd e WIS, Ot dHHR U S|

Options :

1. % fe=maraes forar farivor
2. % Afdarae foear favyo

3.  gRUTHATE fohar faiwom
4. % RJFErES fobar farivr

Question Number : 168 Question Id : 54062624039 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& T are &1 o fa=ioT ma Siforg
qgd YD TSN, O dTR TS 3|

Options :

1. ® fexmarae® foar oo



2. % Afdarae foear favyo
3. ¢ URUMTHaE® foear faiorn
4. ® RFEErE® fobar farivor

Question Number : 169 Question Id : 54062624040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3U 77U aTe T IUGad Weg T 99 I Rad RIM HI il BT

TRRIAH T J?

Options :
1. % Ig=
2. ¢ Wi
3. % Yiq
4. % fquy

Question Number : 169 Question Id : 54062624040 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 & IUYe Weg &1 T B Nad RIM B il B
TR 31T & T FIT]?

Options :
1% e
2. ¥ Wi
3. % YHId
4. % favg

Question Number : 170 Question Id : 54062624041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 77U wre &1 faaH e J1d BT



a}ald

Options :

1. # gury

2. % DI

3. ¢ =Y
4. % ARG

Question Number : 170 Question Id : 54062624041 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TN Wsg T I Wee I BT

aXald

Options :

1. ® gty

2. ® DI

3. ¢ 3{fHRIY

4. % ARG

Question Number : 171 Question Id : 54062624042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&T 7T wrec} # Qg Ikt BT T4 BT
Options :

1. ¢ OEA1T

2. % Y

3. % AFg

4. % HEHT

Question Number : 171 Question Id : 54062624042 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T U Trsal H g Idt BT T HIf|
Options :

1. ¢ -

2. % U™

3. % O

4. % TEHAT

Question Number : 172 Question Id : 54062624043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few T Treat # Yo et BT TTH B
Options :

1. ¥ Uy

2. % UReY

3. % O

4. % ORY

Question Number : 172 Question Id : 54062624043 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T U T3l H g Id BT T HIT
Options :

1. ¢ Uy

2. % UReY

3. % Uy

4. % ORY

Question Number : 173 Question Id : 54062624044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faQ U 2o 1 gufgaE Teg J1d FHifoTU
u@m

Options :

1. # 3l
2. % 3dd
3. ¢ 3l
4. % 3y

Question Number : 173 Question Id : 54062624044 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 77U S1eg &1 UGTTETE Tsg JTd BIFT|
uf@m

Options :

1. % 3
2. % 3dd
3. % 3ddl
4. % 3P

Question Number : 174 Question Id : 54062624045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafefad argaixr o fore IfId Wsg &1 T HifoT|
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Options :

1. % 3URyg
2. % IOHY
3. % SURAy




4. ¢ 3fHPHd

Question Number : 174 Question Id : 54062624045 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufeRaa areair & foru IRId Weg &1 994 iU
T B1g REd R A8

Options :

1. % 3ORUE
2. % 3OHY
3. % 3OOy
4. ¢ 3Hdbd

Question Number : 175 Question Id : 54062624046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T Tsg BT UATgar Wee 310 BT

hlh
Options :

1. % [qafa

Question Number : 175 Question Id : 54062624046 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U 7T Tsg BT UATGaTE Weg 10 BT

Carca



Options :

Question Number : 176 Question Id : 54062624047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e U =1eg g 1 Hel Weg I J1d DI
3D : ATAlD

Options :

1. % HeRY . 1414

2. % qicp Igd : 3T

3. ¢ 95 : YT

4. % YT : dich Ifgd

Question Number : 176 Question Id : 54062624047 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faq 7T 2req g BT Wl Wed g1 14 BT
3[clleh : 3MTeileh

Options :

1. % ARG . g4

2. % i I5d : e

3. ¢ IS U

4. % UPHI : Al Agd

Question Number : 177 Question Id : 54062624048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

f3T T ar & Iferd IR &1 999 HReh Rad R D1 g Difod |
Tifiarars R T2t

Options :
1. % W

2. ¥ 9

3. % &

4. % & forw

Question Number : 177 Question Id : 54062624048 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T 7 I & I TREH &1 999 HRoh Nad R D1 Y Difod |
Tiiar g iR TSt

Options :
1. % W

2. ¥ 9

3. % &

4. % Py

Question Number : 178 Question Id : 54062624049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T U are T I 30 W BT I8 HRoh Rad I P g Diforg |
31T ST T U & 8T 8|

Options :
1.+ dg
2.%

3. % dH




4. % 34

Question Number : 178 Question Id : 54062624049 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T U ae & I 30 TN BT I8 HRoh e I B g PIfoTg |

MBI oI T T 3 Y@ B
Options :

1.+ dg

2.%

3. % dH

4. % 3

Question Number : 179 Question Id : 54062624050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau 7T 1o ) gfy 19 BT
gfe gH Ued 5Id a1 o) 98 STt S|

Options :

1. % GueTd®
2. % g q@H
3. % Td®

4. ¢ Jhdde

Question Number : 179 Question Id : 54062624050 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fg Qa1 @t gy F1d I
e g9 Ugd ofd @ <l 98 St S|



Options :

1. ® FYGIdH
2. % g q@H
3. %

4. ¢ Jhdrde

Question Number : 180 Question Id : 54062624051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fT TTq g1eRy BT Y&t 1A BT

RCRCIBIREIRECaST

Options :

1. ¥ QUi Ugf
2. % g U

3. % 31qfd e
4. % fRYIHS

Question Number : 180 Question Id : 54062624051 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faq 7T areRs 1 gef J1d BifST

RCECIRIRCIEECaRT

Options :
1. ¢ qui ug
2. % gy

3. % 31qfd e
4. % Rygm®



General Hindi2

Group Number : 10

Group Id : 540626945

Group Maximum Duration : 0

Group Minimum Duration : 120

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
General Hindi2

Section Id : 5406261192

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 16

Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 5406261419

Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 54062624052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad el 7 Q B & Weg AT & JaTerur g2
Options :

1. ¢ YT, Ud, &

2. % gy, W, Sity



3. % TN, DI, Hrafl
4. % g, I, AT

Question Number : 181 Question Id : 54062624052 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad wrsal B T 1 I Weg e & ISTeR0T 32
Options :

1. ¢ °cT, Ud, &

2. % B, W, oY

3. % TR, DIAd, Dlefl

4. % 2, ofll, gUreT

Question Number : 182 Question Id : 54062624053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafifed el 7 Q B | Weg Uhda & IaTexUl 82
Options :

1. ¥ T3,

2. % g4, M

3. % 9%, 9y anT

4, % JIIhITU, HIdT

Question Number : 182 Question Id : 54062624053 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad Trsal o ¥ HH ¥ 2o UdhadH & IaleRUl g7
Options :

1. ¥ &, 9

2. % QUM

3. % g, Y AN




4. ® SIADITO], HIdT

Question Number : 183 Question Id : 54062624054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad o @ ®F 91 a9 Y YdbTd BT IaTeR0T 82
Options :

1. ¢ HIHWN = &Y I AR

2. % I Y WA |

3. % T RRIT &I ARy U1

4. % faurery o g1 g g

Question Number : 183 Question Id : 54062624054 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad o ¥ SF 91 a1 9T YadhTd B IGI60I 52
Options :

1. ¢ fIPW 4 HY Bl AR

2. % I A GG

3. % T R &1 ART 7|

4. % fqerTerg §q 81 gHbT g

Question Number : 184 Question Id : 54062624055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu U Tt # 3§ iy 9 3 eI

Options :

1. % 391 SR T 3R eol! Ard |

2. % T TEIR SThR Fooll BRIGHR AT |

3. ¢ 9 AT IOIR 4T 79 98 oot BRIGHR ARl |
4. % 31 SR HfT T Rifds I Feoll a1 At




Question Number : 184 Question Id : 54062624055 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou e arat © ¥ Ay a1 I1d HifoE|

Options :

1. % 37 SR TR 3R Heont AT

2. % T TOIR SThR Fooll WRIGHR AT |

3.« T9 AT INIR 4T 79 98 oot BRIGHR ARl |
4. % 37 SR 3afer Tf i I Teolt @ At

Question Number : 185 Question Id : 54062624056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad arel o ¥ Y a1 &1 9949 DIl |
Options :

1. % 98 d 1 al-IR Aredl el ¢

2. ¢ 98 Titd &1 al-IR Bl el |

3. % 98 M $I Q-9IR afedl # T 5|

4. % g 1id &1 <I-IR ST el & |

Question Number : 185 Question Id : 54062624056 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafaRad ot O ¥ Y a1 &1 9949 Diford|
Options :

1. % 98 d 1 al-IR Al el 8|

2. ¢ 98 Td &1 &1-aR SIS et 3|

3. # gg 1id 3! S1-IR AfSar § et 3|

4. % Jg A B! QIR qrSdl A B



Question Number : 186 Question Id : 54062624057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRad a1l O 9 Y[ 91 &1 994 Hifod|

Options :

1. ¢ g9 g R gd R U fera|

2. % g qH WM g1 Ud &1 0 fera|
3. % T 92 R Ud &1 U foraHr ol
4. % T qH Ud 1 YR 81 U ferg|

Question Number : 186 Question Id : 54062624057 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad IRl B 9 Y aTerd &1 o+ Diforu|
Options :

1. ¢ T g3 A Ud TR U fereTT|

2. % O JH M 81 Ud DT U fergH|

3. % U G R Ud &1 O forem 1|

4. % I Y Ud 1 YR 81 U ferg|

Question Number : 187 Question Id : 54062624058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou e a1 H forg formm fomg &1 ST fosan Simeen 3id Sifva |
ST faer 31T T8 e |

Options :
LYe
2. %

3. % |
4, %



Question Number : 187 Question Id : 54062624058 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fou U arer ¥ forg form faeg &1 Iua fosan Smem 91d Sifoie|
S (e 31T Tal S|

Options :
1.¥°

2. %
3.% |
4. % |

Question Number : 188 Question Id : 54062624059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faQ 7T gty T Iuged favry forg &1 o= ifg |
3TYas fdToll o1 Hd §

Options :

1. ¢ UHdHdD

2. % fqwmafeaius
3. % UifaRH

4. % fqaRur

Question Number : 188 Question Id : 54062624059 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U a1y & Iuged form faeg &1 o= iforu
31T fOdTSh o1 B §

Options :




1. ¥ YYdaP
2. % faurfeaiys

3. % QUifaRTH
4. % fqaxuy

Question Number : 189 Question Id : 54062624060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& fauiarie <real & o ford g &1 IR BieT 62
Options :

1. % fowrarieays

2. % dUq

3. ¥ Uiodh

4. % JGIR™

Question Number : 189 Question Id : 54062624060 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& fomdiard s wrsal & o9 frd fawg &1 T gl 82
Options :

1. % fowrarideys

2. % dd

3. ¢ ol

4. % JGfR™

Question Number : 190 Question Id : 54062624061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 § Iuged faR1 farg &1 99+ sifsu|
fggafl 1 U T Ted Uy HETHRA g |




Options :
1.¥ <
2. %

3. % _

4. % -

Question Number : 190 Question Id : 54062624061 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f3T 7T a1 § Iuged faR1 forg &1 99+ sifsu|

fggafl 1 U T Ted Uy HETHRA g |
Options :

R

2. % -

b

3. % _

4. % -

Question Number : 191 Question Id : 54062624062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferiad we , fou 0 oR fawedl & 9, 39 fadmed &1 997 & S fou U geTark & 31 ol Ia9% U I oJad HRdl ¢ |
el o 1T IS

Options :

1. % §9 AN & el B T Ut &t gt gt §

2. % 3O 910 9§ gdC ST

3.« 3N afaqdl & Hed &H Ay WY Sare] 9 §9d1 8

4. % 3P gfgA™

Question Number : 191 Question Id : 54062624062 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawed § 9, 39 faded o1 9o 3 ot fT 7T gerer & 3 &1 Jd9§ U ¥ oJad Hral g |
el o BT IS

Options :

1. % g3 A Bt e B T 3o g sgarH gt 8

2. % 3O 910 ¥ gdT ST

3. ¢ 3N ufaqdl & Heg &H Ay Y Sa1er 9 §9d1 8

4. % 3H® gfGAM

Question Number : 192 Question Id : 54062624063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ve o, fau U aR fawedl & 9, 39 fadmen &1 997 & 1 fou U geTak & 31 ol Ya9% U § oJad HRdl ¢ |

U TG WA 94

Options :

1. ¢ SO §9T B GERI DT §SU BT

2. % fobodfl ol ol 10 1 foegp et SfeiT HR
3. % §hah Bl

4. % RIS T

Question Number : 192 Question Id : 54062624063 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 7T IR fawed & 9, 39 faded o1 7o 3 ot f3T 7T gerer & 3 &1 Jd9§ U ¥ oJad Hral o |

SHUAT XY URTIT 9
Options :
1. ¢ U ST R G| BT U Bl

2. % fordft o) fopelt o W foegpdt SravT &R
3. % FHID BT




4. % ITRSIRIG ol

Question Number : 193 Question Id : 54062624064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy ), fou U IR faweal & ¥, 39 fawen &1 997 & 7 fou U geTak & 31 ol Ya9% U § oJad Rl g |

¢l BT

Options :

1. % QIH-BTs HIAT
2. % HOIG! AT

3. % TR gl

4. ¢ ARAR A1

Question Number : 193 Question Id : 54062624064 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu U IR fawedl & 9, 39 faded o1 7o 3 ot f3T 7T geTar & 31 &1 a9y ¥U ¥ oJad HRal g |

YT ST

Options :

1. % G-l B
2. % TOIgR] HAT

3. % RI g

4. ¥ AR-AR fooe

Question Number : 194 Question Id : 54062624065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrofafea aret o 9 fog are o forvm fomg 1 Sford Wi 181 8, 99 Siforg|

Options :

1. % Tg gR Y, §gd qR U AT 5



2.« TO0 TR §f Ul STURT B
3. % A Gl 98 ST RE B
4. % 3T HYEN

Question Number : 194 Question Id : 54062624065 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ot & ¥ g area & faRm g &1 Sfrd v =161 8, 7o Pifod |
Options :

1. % T RY, Tgd R U AT 8

2. ¢ TR TEIRA & 3TUeT STHRI B |

3. % AN gh 98 TG R

4. % 30 HYEN

Question Number : 195 Question Id : 54062624066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & fou 70 aR fAwedl 6 9, 39 fawed &1 999 o 1 faU 0 GgTak & 3l &1 498 ¥ ¥ oad Rl 5|

N CNIECNE]]

Options :

1. % SHGIHR qiad 8 ge-1
2. % gHe gl

3. % BT

4. SO U T T 3T

Question Number : 195 Question Id : 54062624066 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, fiu 70 IR fawedl & 9, 39 faded &1 9o 3 o1t fT 7T gerer & 31 &1 a9y U ¥ oJad Hral g |

S CNECCNE




Options :

1. % B galad § agT

2. % gHS BN

3. % STl

4. T U T T 3T

Sub-Section Number : 2
Sub-Section Id : 5406261420
Question Shuffling Allowed : Yes

Question Id : 54062624067 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

f3T TTU IR D1 TGS UG TUT UAD UY & IR fadwedl T 9 ¥l fadwed |

¥ TR TaTerol § HIN[g Uh 3eH AU ¢ o] sexd T+t shifad iR sreiifad Sitdl &I 81 gARt Yfi & fsdt off v &1 v
7 oifaes Feara forad HHa, ugstt iR g dfd &1 81 81 39 YN UG Had ¢ | Gedl & RIId & Uh-aIiTe YT IR YA § farg ST
AT SUTRT Bt YA Had 280 TRI G HId (448 TG ¥t o 1Y) B 1 39 YW HT IYRId Td Tg! SUTNT 3Tl WUt fay &1 IReidd g, fhg
ey 7 81 X8t S gi T YfH SUTnT H fafaerdr vd Tumar oS g | YfH &1 TRTHAT 50 Tia=d YT 81 TaiT @ § aRA1 a1 o 50 Ufa=id
YN IR Udd, W18 371fe 8 | Y I H W B & g A o=t Tifafaferat & Hff &1 AR g &= o 381 8 | ¥ &1 99 sarer
31 U gftd ovd g | Wl H 8BRS BIe-RId S AR Siaq § f YfH vy sgar 8 | g YfH A9 iR Us-uief R 9gd &t
THRIAD JHTG STed! ¢ T T8 ] TR UG 814 aTeh had DI giod @l ol YH UGHUI ¥ Jal o Hifde Ud e 07 THTad 8id g |
YA UgWOr & UHTT T T 4l & Sedial 3R SrIuanh uerd & Iufyd 81 & HRUT HH B SoR a1d & 3R 39 TR [l HRAT SGHT g il
g1 ST ard o firdt & firaes 39 g HR <d & | Y 7S &t Hayd STaRadhdl § SR 39 W I8 84 I &1 o |l

Sub questions

Question Number : 196 Question Id : 54062624068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gt & ERTA P fobd HIT TR YA B2
Options :

1. % T-ferg

2. % QLAY

3. % QRS



4. TH-AYTS

Question Number : 197 Question Id : 54062624069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ &7 T =1 Ufa=ra T TRT - A 82
Options :

1. ¢ 50 gfd=rd

2. % 70 Yid=rd

3. % 90 UfcrRId

4. % 45 gfd=rd

Question Number : 198 Question Id : 54062624070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S 9 uerd Yy ¥ frde gt &1 gfvd ad 82
Options :

1. % Sfdw

2. % 9l

3. ¢ A&Tufaea

4. % IS

Question Number : 199 Question Id : 54062624071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SRS gfG & BRI YA ITART H o7 d&ard 311 82
Options :

1. % ifde vd Imafe

2. ¢ fafdedr ud guAd

3. % IS a1 AfdH

4. % T T4 3flfdd




Question Number : 200 Question Id : 54062624072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T T TR T ST NS &1 G

Options :

1. ¢ Y Uy

2. % W Y

3. % gar & Hifae o1
4. % SIS 9

Question Id : 54062624067 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

f3T 7T TR ) ATHYE® Ue adT TAH UY & IR fddbed! H 9 5! fadbed g |

¥ TR Taierol § HiIN[g U e e ¢ foraet sevd 9t sifad sk sreiifad Sitdl &1 81 ARt Yfir § feft off v 1 ImmafAes
g1 fdes deand forrd A4, ugsit 3R aafa &l 81 81 39 Y UgWul dhed & | Tt & eRTad o Uh-AUTs YT IR YW § fhg S
AT UGN BT YfH Hadt 280 AR 71 HIA (448 TRa 71 fob 1Y) B 1 39 YfSr o1 Gqfad Ud WEt STENT 4TS Ut f9% o1 SRedd 8, fhd
faey o BY X3 S gis § YfH ST & fafaerar Ud TumdT o § | YH &7 TTHT 50 Ua=Td I &1 TN A § av-1 a1 & 50 Ufa=rd
YN IR Tdd, W3 e & | YD T H W B o 1078 IS 3O Tafafea  YfH &1 fFARaR gitrd @xar o 81 8 | 4l &1 9ed sarar
319 gerd g #Rd 8| Wl H BB RS BIeRIe 3iferd A1 § Sra- 9 Ht YiH Ugw0r sear & | giivd 4 7 3R 0e-0ef R sgd 8t
THRIAD THTG STed! ¢ T T8 g TR U 819 aTell had dl giod @l ol YW UgHUr ¥ Jal & Hifde Td Imaf-ias 07 THTfad 8id g
YA TguUr & guTa I 7 4 F SR SR Sguant gard o SUfyd §H & HRUT YW P §oR a4 § SR 39 TR Bl BT 3EHd B o1l
g1 Meaufaea yaref ot frd) & fiyeres) 39 gfiid R 3d B | Y 78 ) HaHd Sa=gehdl 8 3R 38 W 3G1 8H Jd BT Hdod ol

Sub questions

Question Number : 196 Question Id : 54062624068 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T2t & R & fap- HIT TR Y 82
Options :

1. % Up-fagrg

2. % QLIS



3. % gLfdeTs
4. UH-ANUTS

Question Number : 197 Question Id : 54062624069 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¥ &1 a1 Ufa=ra T TR - A 82
Options :

1. ¢ 50 gfd=rd

2. % 70 Yfd=rd

3. % 90 UfcRId

4. % 45 gid=rd

Question Number : 198 Question Id : 54062624070 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B 9 yard ffy 7 firda gt &1 givd ad 82
Options :

1. % Sfd®

2. %Wl

3. ¢ A&Tufaea

4. % IAHD

Question Number : 199 Question Id : 54062624071 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SReT g & HRUT YA YT B 1 deard ST |2
Options :

1. % YIfded T RS

2. ¢ fafdedr ud gud

3. % IS a1 S

4. % T3 U9 3IfdP




Question Number : 200 Question Id : 54062624072 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T 77T TR 1 U XY H F1 R
Options :

1. ¢ Y{H gguur

2. % W Y

3. % gaT & Hifae 1o

4. % SIS gl



